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361 : BUSINESS REGULATORY FRAMEWORK - II
(2019 Pattern) (Semester - VI) (CBCS)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) Q.No. 1 and Q.No. 6 are compulsory.
2) Solve any 3(Three) questions from the remaining questions no. 2,3,4 & 5.

PA-1857

Q1) A) Fill in the blanks (Any 5 out of 6) [5]
i) Enforcement of ‘The Negotiable Instruments Act’ has been

implemented in India except J&K __________.
(1 March 1882, 1 September 1872, 1 December 1930)

ii) The transaction of buying & selling with the help of electronic media
are called __________.
(E-Commerce, E-Communication, E-Management)

iii) A person who buys goods/services for a compensation is called a
__________ under section 2(7) of the ‘Consumer Protection Act’.
(Trader, Consumer, Supplier)

iv) __________ is the right granted to the creator of a work of literature
under ‘Intellectual Property Rights’.
(Trademark, Patent, Copyright)

v) When the negotiable instruments are not accepted or paid, it is
considered as a _________ of negotiable instrument.
(Honour, Dishonor, To cash)

SEAT No. :

P.T.O.
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vi) _____________ means authentication of any electronic record by
a subscriber by means of an any electronic method in accordance
with the provisions of section 3.
(Digital transaction, Digital signature, Digital contract)

B) Match the following : [5]
Group A Group B

1) The Negotiable Instruments Act a) 20 July, 2020
2) E-Contract b) Bill of exchange
3) Consumer protection Act c) December 1994
4) TRIPs contract d) Claims amounting to over

2 crore
5) National commission e) Web-wrap

Q2) Give the difinition of ‘The Negotiable Instruments’ and explain the features of
‘The Negotiable Isntruments’. [15]

Q3) What do you mean by ‘E-Commerce’? Explain the importance & types of
‘E-Commerce’. [15]

Q4) Explain the Provisions of the state and National consumer Grievance Redressal
commission under the consumer protection Act. [15]

Q5) Define the ‘Patent’ and explain the procedure for obtaining a patent and rights
of patent holder. [15]

Q6) Write short notes : (Any 3) [15]
a) Rights of a ‘Holder in Due Course’.
b) Digital Signature.
c) State consumer protection council.
d) Organs of ‘World Intellectual Property organisation’.
e) Trademark


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Total No. of Questions : 6]
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T. Y. B.Com.

361 : BUSINESS REGULATORY FRAMEWORK - II
(2019 Pattern) (Semester - VI) (CBCS)

(_amR>r ê$nm§Va)
doi : 2½ Vmg]                      [EHy$U JwU : 70
gyMZm : 1) àíZ H«$. 1 Am{U àíZ H«$. 6 gmoS>{dUo A{Zdm¶© Amho.

2) àíZ H«$. 2, 3, 4 Am{U 5 ‘Yrb H$moUVohr 3 àíZ gmoS>dmdoV.

PA-1857

àíZ 1) A)A)A)A)A) Jmiboë¶m OmJm ^am. (Jmiboë¶m OmJm ^am. (Jmiboë¶m OmJm ^am. (Jmiboë¶m OmJm ^am. (Jmiboë¶m OmJm ^am. (6 n¡H$s H$moUË¶mhr  n¡H$s H$moUË¶mhr  n¡H$s H$moUË¶mhr  n¡H$s H$moUË¶mhr  n¡H$s H$moUË¶mhr 5))))) [5]
i) MbZ j‘ XñVEodO H$m¶ÚmMr A‘b~OmdUr ................ nmgyZ Oå‘y-H$mí‘ra

dJiVm ^maVmV gd©Ì Ho$br Jobr.
(1 ‘mM© 1882, 1 gßQ>|~a 1872, 1 {S>g§o~a 1930)

ii) Bbo³Q́>m°{ZH$ ‘mÜ¶‘m§À¶m gmhmæ¶mZo hmoUmè¶m IaoXr-{d{H«$À¶m ì¶dhmam§Zm ...............
Ago åhQ>bo OmVo.
(B© - H$m°‘g©, B© - g§kmnZ, B© - ì¶dñWmnZ)

iii) Or ì¶³Vr ‘mo~Xbm XoD$Z dñVy/godm IaoXr H$aVo Aem ì¶³Vrbm J«mhH$ g§ajU
H$m¶Xm H$b‘ 2 (7) Zwgma ................. åhQ>bo OmVo.
(ì¶mnmar, J«mhH$, nwadR>mXma)

iv) EImX¶m gm{hË¶H¥$VrÀ¶m {Z‘m©Ë¶mbm ~m¡[ÕH$ g§nXm A{YH$mam§VJ©V {Xbm Jobobm
A{YH$ma åhUOo .................. hmo¶.
(ì¶mnmar{MÝh, noQ>§Q>, H$m°nramB©Q>)

v) Á¶mdoir EImX¶m MbZj‘ XñVEodOmbm ñdrH¥$Vr {‘iV Zmhr [H§$dm Ë¶mMo n¡go
àXmZ Ho$bo OmV Zmhr; Voìhm Ë¶mbm MbZj‘ XñVEodOmMm ................ Ago
g‘Obo OmVo.
(AmXa, AZmXa, dQ>dUyH$)

P.T.O.
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vi) ................. åhUOoM H$moUË¶mhr Bbo³Q´>m°{ZH$ aoH$m°S>©Mo H$b‘ 3 À¶m daVwXrZwgma
Bbo³Q´>m°{ZH$ nÕVrZo dJ©UrXmamZo Ho$bobo A{Yà‘mUZ hmo¶.

({S>{OQ>b ì¶dhma, {S>{OQ>b ghr, {S>{OQ>b H$ama)

~) ¶mo½¶ OmoS>çm Owidm : [5]
JQ> A  JQ> ~

1) MbZj‘ XñVEodO H$m¶Xm A) 20 Oyb¡, 2020
2) B© - H$ama ~) {d{Z‘¶nÌ

3) J«mhH$ g§ajU H$m¶Xm H$) {S>g|~a 1994
4) {Q´>ßg H$ama S>) 2 H$amoS>nojm OmñV aH$‘oMo Xmdo

5) amï´>r¶ Am¶moJ B>) do~ - a°n

àíZ 2) MbZj‘ XñVEodOmMr ì¶m»¶m gm§JyZ MbZj‘ XñVEodOmMr d¡{eï>¶o ñnï> H$am. [15]

àíZ 3) B© - H$m°‘g© åhUOo H$m¶? Vo gm§JyZ B© - H$m°‘g©Mo ‘hÎd Am{U àH$ma ñnï> H$am. [15]

àíZ 4) J«mhH$ g§ajU H$m¶X¶mV§J©V AgUmè¶m amÁ¶ Am{U amï´>r¶ J«mhH$ VH«$ma {ZdmaU Am¶moJmÀ¶m
VaVwXr ñnï> H$am. [15]

àíZ 5) noQ>§Q>Mr ì¶m»¶m gm§JyZ, noQ>§Q> {‘idÊ¶mMr H$m¶©-nÕV Am{U noQ>§Q>YmaH$mMo A{YH$ma ñnï> H$am.
[15]

àíZ 6) {Q>nm X¶m : (H$moUË¶mhr 3) [15]
A) ¶Wm{dYrYmaH$mMo {deof h³H$

~) {S>{OQ>b {g¾oMa

H$) amÁ¶ J«mhH$ g§ajU n[afX

S>) OmJ{VH$ ~m¡[ÕH$ g§KQ>ZoMr gmYZo

B) ì¶mnmar{MÝh


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T.Y.B. Com.

362 : ADVANCED ACCOUNTING-II
 (2019 Pattern) (Semester-VI)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) Q1 is compulsory.
2) Solve any 2 Questions from remaining Q.No 2,3 and 4.

PA-2708 [Total No. of Pages : 5

SEAT No. :

Q1) a) Fill in the blanks (Any five out of 7) [5]
i) Co-operative Societies are not formed for earning ______

a) Profit b) Assets
c) Liabilities d) Cash flows

ii) A_____is a subordinate division of a central office.
a) Balance sheet b) Fund flow statement
c) Co-operative Society d) Branch

iii) The ____branches are not allowed to make their own purchases
from open market.
a) Dependent b) Sub
c) Tree d) Variable

iv) Forensic Accounting provides an accounting analysis suitable to
be used in ______ Proceedings.
a) Foreign b) national
c) international d) legal

v) Liquidity ratios measures the ability of a firm to meet its ____
obligations.
a) Short term b) profit
c) loss d) wealth

vi) Balance sheet is a position statement that determines liquidity and
_____position.
a) Overall performance b) solvency
c) long term d) short term

vii) Ratio analysis is the most useful technique for analyzing
____statements scientifically.
a) Financial b) scientific
c) statistical d) organizational

P.T.O.
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b) True of False (Any five out of 7) [5]
i) Ratio analysis ensures effective cost control.
ii) The long term analysis of financial statements is mainly concerned

with stability and revenue earning potential of the concern.
iii) The price specified in the options contract is known as option price.
iv) Derivatives markets help to increase savings and investments in the

long run.
v) Commission payable to Branch Manager is alwasys debited to

Branch account.
vi) The branch which keeps full system of accounting is said to be an

independent one.
vii) The final accounts of Co-operative Societies are required to be

approved by the members in the Annual General Meeting.

c) Mathch the following. [5]
i) Home Branch Inflow and outflow of cash
ii) Futures Logical Thinking Process
iii) Artificial Intelligence 2:1
iv) Cash Flows Inland Branch
v) Ideal Current Ratio More Liquid

d) Short Notes (Any three out of five) [15]
i) Accounting for Corporate Social Responsibility.
ii) Meaning of Ratio Analysis.
iii) Explain the concept of Forensic Accounting.
iv) Explain Profitability Ratios.
v) Use of Artificial Intelligence in Accounting.

Q2) From the following Trial Balance of Udyaya Co-operative Purchases and
Sales Society Ltd as on 31/03/2021 prepare Trading Account, Profit and
Loss Account for the year ended 31/03/2021 and Balance Sheet as on that
data after consideration the adjustment given there after [20]

Trial Balance as on 31/03/2021

Particulars Debit Rs. Credit Rs.
Share Capital 1,68,000
Reserve Fund 3,000
Creditors for Purchases 20,000
Profit and Loss Account 01/04/2020 8,000
Profit for the year 80,000
Opening Stock 1,96,000
Furniture and Equipments 62,000
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Container Deposit 16,000
Sundry Debtors 30,000
Salaries 1,50,000
Commission 44,000
Rent and Taxes 23,000
Postages 4,000
Travelling and Conveyance 9,000
Printing and Stationery 7,000
Dividend paid 7,900
Admission fees 1,000
Purchases 31,70,000
Coolie charges, freight, cartage 80,000
Investments 1,20,000
Sales 38,10,000
Cash in Hand 2,100
Bank Balance 200,000
Development Fund 4,000

41,2,1000 41,21,000

Other Information
i) Closing stock is valued at Rs. 2,20,000.
ii) Outstanding Rent Rs. 2,000.
iii) Commission payable Rs. 10,000.
iv) Rs. 4,000 salary was paid as advance as on 31/03/2021.
v) Provide for Audit fees Rs. 8,000.
vi) The Society declared 5% Dividend on its paid up capital as on

31/03/2020 for the year. The Society transferred 25% of its profit for
the year ended 31/03/2020 to Reserve fund and also transferred.
Rs. 4,000 to Development fund approved in the general meeting held on
31/10/2020.

vii) Accrued Income on Investment Rs. 10,000.
viii) The Directors recommend 10% Dividend for the current year.
ix) Provide 10% Depreciation on furniture and equipments.
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Q3) The following is the Profit and Loss for the year ending 31st March 2021 and
Balance sheet as on that data of C Ltd. [20]
Dr. Profit and Loss Account for the year ending 31st Marh 2022
Particulars Amount Particulars Amount
To Opening Stock 10,000 By Sales 1,00,000
To Purchases 55,000 By Closing Stock 15,000
To Gross Profit c/d 50,000
Total 1,15,000 Total 1,15,000

To Office Expense 15,000 By Gross Profit b/d 50,000
To Interest 3,000
To Selling Expense 12,000
To Net Profit c/d 20,000
Total 50,000 Total 50,000

Balance Sheet as on 31st March 2022
Liabilities Amount Assets Amount
Share Capital Shares at 10 1,00,000 Land and Building 50,000
each
Profit and Loss 20,000 Plant and Machinery 30,000
Creditors 25,000 Stock 15,000
Bills Payable 15,000 Debtors 15,000

Bills Receivable 12,500
Cash at Bank 17,500
Furniture 20,000

Total 1,60,000 Total 1,60,000

Other Information
a) Average Debtors Rs. 12,500
b) Credit Purchases Rs. 40,000
c) Credit Sales Rs. 80,000

Calculate –
i) Stock Turnover Ratio
ii) Debtors Turnover Ratio
iii) Creditors Turnover Ratio
iv) Gross Profit Ratio
v) Net Profit Ratio
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Q4) Bharat Traders has a branch at Surat to which goods are supplied by Head
office at 25% on cost price. Branch remits all cash received by the Head
Office and all expenses except petty cash expenses of the branch are paid by
the Head Office by cheques.
Prepare Surat Branch Account, Branch Debtors Account and Branch Petty
Cash Account in the books of Bharat Traders, Baroda taking into consideration
in the follwing information for the year 2021-2022 [20]
Particulars Balances as on 1st April Balances as on 31st March

2021 2022
Stock in Trade 1,00,000 57,600
Debtors 10,000 54,000
Cash in hand 100 -

Goods sent to branch 2,00,000
Total Sales 3,00,000
Cash received from Debtors 1,90,000
Goods returned by Debtors 2,000
Discount allowed to customers 4,000
Allowances to Customers 2,000
Bad Debts written off 4,000
Bills receivable from debtors 4000
Cheques sent to branch offices for expenses

i) Salaries 9,530
ii) Rent 2400
iii) Advertisement 1,200

Petty Expenses at Branch 950
Petty Cash remittances to branch 1,000
The branch manager is entitled to a commission of 10% on Branch Profits
before charging such commission.


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BUSINESS ECONOMICS
363 : Indian and Global Economic Development - II

(2019 CBCS Pattern) (Semester - VI) (Regular)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) Que. 1 and Que. 6 are compulsory.
2) Solve any three questions from the remaining question no. 2, 3, 4 & 5.
3) Figures to the right side indicate full marks.

PA-1859 [Total No. of Pages : 4

SEAT No. :

Q1) A) Fill in the blanks (Any five): [5]

i) The human development index released from ________.

a) 1947 b) 1950

c) 1990 d) 2014

ii) F.D.I. stands for ___________.

a) Foreign direct investment

b) Foreign Direct Inter-vention

c) Foreign domestic investment

d) Fast direct investment

iii) India is the founder member of ________.

a) ASIAN b) SAARC

c) USA d) UAE

iv) International trade means _________.

a) Trade between countries b) Trade between regions

c) Trade between provinces d) Trade between two states

v) The Multidimensional Poverty Index(M.P.I.) is released by _______.

a) World Bank b) World Economic Forum

c) U.N.D.P. d) Asian development bank

vi) _______ means a systematic record of all economic transactions
between one country and rest of the world.

a) Balance of Trade b) Balance of Transactions

c) Budget d) Balance of payments

P.T.O.
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B) Match the following : [5]

A B

i) I.M.F. a) Balance of Trade

ii) G.D.I. b) International Bank for
Reconstruction and Development

iii) World Bank c) Gender Development Index

iv) EXIM Policy d) International Monetary fund

v) Current Account e) Foreign Trade Policy

Q2) Explain the role of human resources in economic development. [15]

Q3) Explain the role of foreign capital in economic development. [15]

Q4) Explain the India’s recent foreign trade policy. [15]

Q5) Explain the functions of SAARC. [15]

Q6) Write Short Notes (any three): [15]

a) Human Poverty Index.

b) Limitations of foreign capital.

c) Convertibility of Indian Rupee on current Account.

d) BRICS.

e) Global Hunger Index.


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Total No. of Questions : 6]

[5952]-603
T.Y. B.Com.

BUSINESS ECONOMICS
363 : Indian and Global Economic Development - II

(2019 CBCS Pattern) (Semester - VI) (Regular)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) àíZ H«$. 1 Am{U àíZ H« . 6 A{Zdm¶© AmhoV.
2) Cd©[aV àíZ H«$‘m§H$ 2, 3, 4 Am{U 5 ‘Yrb H$moUVohr VrZ àíZ gmoS>dm.
3) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
4) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

PA-1859

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]

i) ‘mZd {dH$mg {ZX}em§H$ ............... nmgyZ à{gÕ H$aÊ¶mV ¶oVmo.
A) 1947 ~) 1950

H$) 1990 S>) 2014

ii) E’$. S>r. Am¶. (F.D.I.) åhUOo .............
A) naH$s¶ àË¶j J§wVdUwH$ ~) WoQ> àË¶j hñVjon
H$) {dXoer Xoem§VJ©V J§wVdUwH$ S>) ObX WoQ> Jww§VdUwH$

iii) ^maV ................ Mm g§ñWmnH$ gXñ¶ Amho.
A) A{g¶Z (ASIAN) ~) gmH©$ (SAARC)

H$) ¶w. Eg. E. (U.S.A.) S>) ¶w. E. B©. (U.A.E.)

iv) Am§Vaamï´>r¶ ì¶mnma åhUOo .................. hmo¶.
A) Xoem§Xoem§‘Yrb ì¶mnma ~) àXoem§‘Yrb ì¶mnma
H$) àmVm§‘Yrb ì¶mnma S>) XmoZ amÁ¶m§‘Yrb ì¶mnma

v) ~hþAm¶m‘r Xm[aÐç {ZX}em§H$ (M.P.I.) ................. H$Sy>Z Om{ha Ho$bm OmVmo.
A) OmJ{VH$ ~±H$ ~) OmJ{VH$ Am{W©H$ ‘§M
H$) ¶w. EZ. S>r. nr. S>) Am{e¶mB© {dH$mg ~±H$

vi) ................... åhUOo EH$ Xoe Am{U Cd©arV OJ ¶m§À¶mVrb gd© Am{W©H$ ì¶dhmam§Mr
Zm|X hmo¶.
A) ì¶mnmaVmob ~) ì¶dhmam§Mr {e„H$
H$) AW©g§H$ën S>) ì¶dhmaVmob
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~) Imbrb OmoS>çm Owidm : [5]

"A' JQ> "~' JQ>

i) Am¶. E‘. E’$. (I.M.F.) A) ì¶mnma Vmob

ii) Or. S>r. Am¶. (GDI) ~) Am§Vaamï´>r¶ nwZ{Z‘m©U d {dH$mg ~±H$

iii) OmJ{VH$ ~±H$ H$) qbJ {dH$mg {ZX}em§H$

iv) Bp³P‘ nm°{bgr S>) Am§Vaamï´>r¶ ZmUo {ZYr

v) Mmbw ImVo B) {dXoer ì¶mnma YmoaU

à.à.à.à.à.2) Am{W©H$ {dH$mgmVrb ‘mZdr g§gmYZmMr ŷ{‘H$m ñnï> H$am. [15]

à.à.à.à.à.3) Am{W©H$ {dH$mgmVrb naH$s¶ ^m§S>dbmMr ŷ{‘H$m ñnï> H$am. [15]

à.à.à.à.à.4) ^maVmMo gÚmMo {dXoe ì¶mnma YmoaU ñnï> H$am. [15]

à.à.à.à.à.5) gmH©$Mr H$m¶} ñnï> H$am. [15]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË¶mhr VrZ) [15]

A) ‘mZdr Xm[aÐç {ZX}em§H$

~) naH$s¶ ^m§S>dbmÀ¶m ‘¶m©Xm

H$) Mmbw ImË¶mdarb ^maVr¶ ê$n¶mMr n[adV©Zr¶Vm

S>) {~«³g (BRICS)

B) OmJ{VH$ ŷH$ {ZX}em§H$


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[5952]-604
T.Y. B.Com. (Semester - VI)

363 : INTERNATIONAL ECONOMICS - II
(2019 Pattern) (CBCS)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) Question No. 1 and Question No. 6 are compulsory.
2) Solve any Three Questions from the Question No. 2 to Question No. 5.
3) Figures to the right side indicate full marks.

PA-1860

Q1) A) Fill in the blanks (Attempt any 5) : [5]
i) International bank for reconstruction and development also popularity

called _________.
a) World Bank b) Monetary Fund
c) European Bank d) Central Bank

ii) Current Account of Balance of Payment records _________.
a) Exports and imports of consumers goods
b) Exports and imports of capital goods
c) Inflow of Investment
d) Out flow of Investment

iii) Balance of trade is in surplus when ________.
a) The value goods of exports is greater than the value of goods

of imports
b) The value goods of exports is equal to the value of goods of

imports
c) The value goods of the exports is less than the value of goods

of imports
d) The value capital goods of exports is equal the value of capital

goods of imports
iv) A disequilibrium in Balance of Payment can also be corrected by _____.

a) Demonitisation b) Devaluation
c) Revaluation d) Depreciation

SEAT No. :

P.T.O.
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v) Balance of Payment of country does not include ________.
a) Current Account b) Capital Account
c) Money Account d) Miscellaneous Account

vi) ______ is a component of invisible exports.
a) Software Services b) Machineries
c) Equipments d) Medicines

B) Match the Pairs. [5]
A - Group B - Group

i) Brain Drain a) SARC
ii) Foreign Capital b) Current and Capital Account
iii) Foreign Exchange c) Foreign Direct Investment
iv) Balance of Payment d) Labour Migration
v) Rigional Organisations e) Fix and Flexible Exchange Rate

Q2) What is meant by Balance of Trade and Balance of Payment? Explain difference
between Balance of Trade and Balance of Payments. [15]

Q3) Explain the Purchasing Power Parity Theory. [15]

Q4) Explain the Role of Multinational Corporations. [15]

Q5) Explain the Organisation and Functions of International Monetary Fund. [15]

Q6) Write Short Note (Any 3) : [15]
a) Disequilibrium in Balance of Payment.
b) Determination of Foreign Exchange Rate.
c) Foreign Direct Investment.
d) WTO.
e) BRICS.


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[5952]-604
T.Y. B.Com. (Semester - VI)

363 : INTERNATIONAL ECONOMICS - II
(2019 Pattern) (CBCS)

(_amR>r ê$nm§Va)
doi : 2½ Vmg]                      [EHy$U JwU : 70
gyMZm :- 1) àíZ H«$_m§H$ 1 Am{U 6 A{Zdm ©̀ AmhoV.

2) àíZ H«$_m§H$ 2 Vo 5 _Yrb H$moUVohr VrZ àíZ gmoS>dm.
3) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
4) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

PA-1860

àíZ 1) A) `mo½` n`m©̀  {ZdSy>Z [aH$må`m OmJm ^am. (H$moUVohr - 5) [5]
i) Am§Vaamï´>r` nwU~mªYZr Am{U {dH$mg ~±H$ ............ `m ZmdmZo bmoH${à` Amho.

A) OmJ{VH$ ~±H$ ~) ZmZo{ZYr

H$) ẁamo{n`Z ~±H$ S>) _Ü`dVu ~±H$

ii) ............. hm ì`dhma VmobmÀ`m Mmby ImË`m_Ü ò Zm|X{dbm OmVmo.

A) Cn^mo½` dñVy§Mr Am`mV {Z`m©V

~) ^m§S>dbr dñVw§Mr Am`mV {Z`m©V

H$) Jw§VdUyH$sMm AmoY

S>) Jw§VdUyH$sMm ~{hJ©V àdmh

iii) ì`mnmaVmob Am{YŠ`m_Ü ò AgVmo O|ìhm ...........

A) dñVw§À`m {Z`m©VrMo _yë` Am`mV _yë`mnojm OmñV AgUo

~) dñV§wMo {Z`m©V _yë` Am`mV _yë`m ~amo~a AgUo

H$) dñVy§Mo {Z`m©V _yë` Am`mV _yë`mnojm H$_r AgUo

S>) ^m§S>dbr dñV§yÀ`m {Z`m©VrMo _yë` Am`mV _yë`m ~amo~a AgUo

iv) ì`dhmaVmobmVrb Ag_Vmob ................ _yio Xÿa Ho$bm Omdy eH$Vmo.

A) ZmoX~§Xr ~) Ad_yë`Z

H$) nwZ_y©ë`m§H$Z S>) Kgmam
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v) EImXçm XoemÀ`m ì`dhma Vmobm_Ü ò ............ KQ>H$ g_m{dï> ZgVmo.
A) MmbyImVo ~) ^m§dS>br ImVo

H$) MbZ ImVo S>) BVa ImVo
vi) .............. hm {Z`m©VrMm AÐì` ^mJ Amho.

A) gm°âQ>doAa godm ~) _{eZar

H$) gm_J«r S>) Am¡fYo
~) OmoSçm bmdm. [5]

A - JQ>        ~ - JQ>

i) à{V^m nbm`Z A) gmH©$
ii) na{H$` ^m§S>db ~) Mmby d ^m§dS>br ImVo
iii) na{H$` {d{Z_` H$) na{H$` àË`j J§wVdUyH$

iv) ì`dhmaVmob S>) l{_H$ ñWbm§Va
v) àmXo{eH$ g§KQ>Zm B) pñWa d ~XbVo {d{Z_` Xa

àíZ 2) ì`mnmaVmob Am{U ì`dhmaVmob åhUOo H$m`? ì`mnmaVmob Am{U ì`mnmaVmob `mVrb \$aH$ ñnï>
H$am. [15]

àíZ 3) H«$`eŠVr g_Vm {gÕm§V ñnï> H$am. [15]

àíZ 4) ~hþamï´>r` H§$nÝ`m§Mr ŷ{_H$m ñnï> H$am. [15]

àíZ 5) Am§Vaamï´>r` ZmZo{ZYrMr H$m }̀ Am{U g§KQ>Z ñnï> H$am. [15]

àíZ 6) {Q>nm {bhm. (H$moUË¶mhr VrZ) [15]
A) ì`dhmaVmobmVrb Ag_Vmob
~) na{H$` {d{Z_`Xa {ZYm©aU
H$) WoQ> {dXoer Jw§VdUyH$

S>) OmJ{VH$ ì`mnma g§KQ>Zm (WTO)
B) {~«Šg





Q1) a) Define the following Terms (any 4) : [8]

i) Person

ii) Previous year (P.Y)

iii) Perquisites

iv) Composite Rent

v) Net Annual value

b) Write short notes on (any 3) : [12]
i) Advance Tax

ii) Deduction U/S 80G

iii) Capital Expenditure

iv) Agricultural Income

Q2) Solve problems (Any 2) : [16]
a) Compute Net Taxable salary of Mr. Gopi, for the A.Y. 2022-23 from

the following particulars. [8]

i) Basic salary ` 18000 p.m.

ii) DA ` 300 p.m. (Which enters the retirement benefits as per term
of employment)

iii) Bonus ` 6000 p.a.

iv) Rent free accomodation in Delhi provided by X ltd, the employer.
(Accomodation is owned by employer).

v) Entertainment Allowance ` 750 p.m.
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vi) Employer's contribution to RPF is ` 22500 p.a.

vii) Interest on RPF balance is 12% p.a. is ` 27000.

viii) He has been provided with a car for personal and official use
along with driver. The maintenance of expenses are paid by
employer car is 1800 cc.

b) Compute Income from House property of Mr. Sharma for the A.Y.
2022-23 from the following particulars. [8]

Particulars `

Municipal Value 90000

Fair Rent 92500

Standard Rent 87500

Annual Rent 84000

Unrealised Rent 21000

Vacancy period 1 month

Municipal Taxes 15%

Interest on loan 17500

c) The following is Profit & Loss Account of Mr. Shinde for the year
ended on 31.3.2022. Compute his Income from Business. [8]

Dr. Profit & Loss A/c Cr

Particulars ` Particulars `

To Salary 35000 By Gross profit 103250

To Bonus 4200 By Interest Received 14000

To Advertisement 5250 By Commission 1750

To Entertainment Expenses 4375 By House Rent Received 35000

To Telephone Expenses 3500

To Car Expenses 10500

To Donation 3500

To Misc. Expenses 7000

To Interest on loan 2625

To Income Tax 2100

To Depreciation 4200

To Net profit 71750

Total 154000 Total 154000
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Other Information :

i) Salary includes ` 7000 paid to domestic servent.

ii) Car expenses include 1/3rd for personal use.

iii) Depreciation allowable as per Income Tax Act is ` 3150.

iv) Actual Bad debts suffered by Mr. Shinde amounted to ` 700.

v) Loan has been taken for Business purpose.

Q3) Mr. Prakash has given the following particulars of his income and savings
for the financial year ending on 31.3.2022. [14]

Gross salary ` 722700

Profit from Business ` 135000

Interest on Govt. securities ` 3420

Income from House property ` 13500

He paid professional Tax ` 2500

Income Tax paid ` 45000

He paid ` 9180 for LIC premium

He Deposited in PPF ` 9000

He invested ` 4500 in NSC and made F.D. for 5 years in State Bank of
India ` 45000

Compute his Taxable Income for the A.Y. 2022-23 Tax Liability under

a) Taxation under old Regime.

b) Taxation under new Regime.


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àíZ àíZ àíZ àíZ àíZ 1) A) Imbrb g§H$ënZm ñnîQ> H$am (H$moUË`mhr Mma) … [8]
i) ì`ŠVr
ii) H$a AmH$maUr df© / Am{W©H$ df©
iii) gmò r d gw{dYm
iv) EH${ÌV ^mS>o
v) {Zìdi dm{f©H$ _wë`

~) WmoS>Š`mV {Q>nm {bhm (H$moUË`mhr VrZ) … [12]
i) AmJmD$ H$a
ii) H$b_ 80 Or A§VJ©V dOmdQ>
iii) ^m§S>dbr IM©
iv) H¥$fr CËnÞ

àíZ àíZ àíZ àíZ àíZ 2) CXmhaUo gmoS>dm (H$moUVohr XmoZ) … [16]
A) lr. Jmonr `m§Mr H$a {ZYm©aU df© 2022-23 H$arVm Imbrb {Xboë`m _m{hVrdéZ

nJmamnmgwZ {_iUmao {Zìdi CËnÞ emoYm. [8]
i) _wi nJma ` 18000 à{V _hm
ii) _hmJmB© ^Îmm ` 300 à{V _hm (godm{Zd¥Îmr bm^mgmR>r J¥{hV Yamdm)
iii) ~moZg ` 6000 à{V df©
iv) H§$nZrMo _mbH$ lr EŠg `m§À`m _mbH$sMo Ka {Xëbr òWo AgwZ Ë`m§Zr lr Jmonr

`m§Zm _mo\$V ^mS>o VËdmda Ka {Xbo AmhoV.
v) H$a_UwH$ ^Îmm ` 750 à{V _hm.
vi) _mÝ`Vmàmá ^{dî` {Zdm©h {ZYr _Ü ò _mbH$mZo ` 22500 à{V df© A§eXmZ Ho$bo

Amho.

4 P.T.O.
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vii) _mÝ`Vmàmá ^{dî` {Zdm©h {ZYrMo ì`mO 12% à{V df© én ò 27000 BVHo$ Amho.
viii) H§$nZrZo Ë`m§Zm1800 cc Mr H$ma S´>m`ìha gh H$m`m©b`rZ d ImOJr H$m_mgmR>r

{Xbobr Amho. `mMm gd© IM© hm H§$nZrMm _mbH$ H$aVmo.
~) lr. e_m©̀ m§Mo KamnmgwZ {_iUmao CËnÞ H$a {ZYm©aU df© 2022-23 _Ü ò Imbr {Xboë`m

_m{hVrdéZ emoYm. [8]

Vnerb `

ZJanmbrH$m _wë`m§H$Z 90000

dmOdr ^mS>o 92500

_mZH$ ^mS>o 87500

dm{f©H$ ^mS>o 84000

AdmñVd ^mS>o 21000

[aŠV H$mbmdYr 1 _{hZm

ZJanmbrH$m H$a 15%

H$Om©darb ì`mO 17500

H$) lr qeXo `m§Mo 31 _mM© 2022 amoOr g§nboë`m Am{W©H$ dfm©À`m Z\$m VmoQ>m nÌH$mdéZ
ì`dgm`mnmgwZ {_iUmao CËnÞ emoYm. [8]

Dr. Z\$m VmoQ>m nÌH$ Cr

{ddaU ` {ddaU `

nJma 35000 T>mo~i Z\$m 103250

~moZg 4200 ì`mO 14000

OmhramV IM© 5250 H${_eZ 1750

H$a_UwH$sMm IM© 4375 Ka^mS>o 35000

Q>obr\$moZ IM© : XþaÜdZr IM© 3500

JmS>r IM© 10500

XoUJr 3500

{d{dY IM© 7000

H$Om©darb ì`mO 2625

Am`H$a 2100

Kgmam 4200

{Zìdi Z\$m 71750

EHw$U 154000 EHw$U 154000
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BVa _m{hVr …

i) nJmamA§VJ©V é. 7000 ho KaJwVr H$m_Jmamda IM© Ho$bobo AmhoV.

ii) JmS>r IMm©V 1/3 hm d¡̀ ŠVrH$ IM© Amho.

iii) Am`H$a H$m`Úmà_mZo _mÝ` Kgmam é 3150 Amho.

iv) lr qeXo `m§Mo àË`g ~wS>rV H$O© é. 700 Amho.

v) H$O© ho ì`dgm`mgmR>r KoVbobo Amho.

àíZ àíZ àíZ àíZ àíZ 3) lr. àH$me `m§Zr Am{W©H$ df©  31.3.2022 amoOr Ë`m§À`m CËnÞ d ~MVrMr _mhrVr Imbrb
à_mZo {Xbr Amho. [14]
doVZmnmgwZ {_iUmao T>mo~i CËnÞ ` 722700

ì`dgm`mnmgwZ {_R>Umao CËnÞ ` 135000

gaH$mar amoT>`mda {_iUmao ì`mO ` 3420

KamnmgwZ {_iUmao CËnÞ ` 13500

àH$me `m§Zr ì`dgm` H$a ` 2500 AXm Ho$bm Amho.

Am`H$a ` 45000 AXm Ho$bobo Amho.

àH$me `m§Zr OrdZ dr_m hmË`mnmoQ>r é 9180 ^abobo Amho.

àH$me `m§Zr gmd©O{ZH$ ^{dî` {Zdm©h {ZYr é. 9000 O_m Ho$bobm Amho.

àH$me `m§Zr amï´>r` ~MV à_mUnÌmV ` 4500 J§wVdUwH$ Ho$bobr AgwZ

ñQ>oQ> ~±H$ Am°\$ B§S>r`mV ` 45000 _wXV R>od 5 dfm©gmR>r Ho$br Amho.

{Xboë`m _m{hVrdéZ H$a{ZYma©U df© 2022-23 H$arVm lr àH$me `m§Mo H$anmÌ CËnÞ d H$a
Xm{`Ëd emoYm.

A) OwÝ`m H$a AmH$maUr {Z`_mZwgma

~) Z{dZ H$a AmH$maUr {Z`_mZwgma





Q1) a) Fill in the blank with most appropriate alternative (Any 5) : [5]

i) _________ is an objective of marketing.

a) Profitable sales volume

b) Improve the quality of product

c) Product Development

d) None of the above

ii) Mass Marketing is ___________.

a) A strategy b) An Advertisement

c) Product life cycle d) None of the above

iii) Brand can be prepared through __________.

a) Logo b) Name

c) Sound d) All of the above

iv) ________ buy products & __________ use product.

a) Consumer & Customers b) Customers & consumer

c) Buyers & Sellers d) Buyers & customers
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v) Social Marketing concept is relating to ___________.

a) Production b) Customer Education

c) Society d) All of these

vi) _________ does not fall under the category of digital marketing.

a) TV b) Radio

c) Billboard d) All of the above

b) Match the following : [5]

i) Sales a) Environmental security

ii) Packaging b) Newspaper

iii) Pricing Method c) Marginal Cost pricing

iv) Type of Advertising d) Attracting cover

v) Green Marketing e) Product oriented
Approach

Q2) Write a short note (Any 2) : [10]

a) Scope of Marketing

b) 7 P’s of Marketing Mix

c) Green Marketing

d) Objective of pricing

Q3) a) Define Market. Explain the types of Market. [8]

b) Describe the environmental factors that affect the Marketing Mix. [7]

Q4) a) What is product life cycle? Explain the relevance of product life cycle.
[8]

b) Explain the recent trends in Marketing. [7]


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am (H$moUË`mhr 5) … [5]

i) .............. hm {dnUZmMm CÔoe Amho.

A) _moR>çm à_mUmda \$m`Xoera {dH«$s

~) CËnmXZmMr JwUdÎmm gwYmaUo

H$) dñVy {dH$mg

S>) darb n¡H$s H$mhrhr Zmhr

ii) _moR>çm à_mUmdarb {dnUZ ho ............... Amho.

A) YmoaU ~) Om{hamV

H$) dñVy OrdZMH«$ S>) darb n¡H$s H$mhrhr Zmhr

iii) ................. À`m gmhmæ`mZo ì`mnmar {MÝh V`ma Ho$bo OmVo.

A) bmoJmo ~) Zmd

H$) ÜdZr S>) darb gd©

iv) ................ dñVy IaoXr H$aVmV Am{U ............... dñV§yMm dmna H$aVmV.

A) Cn^moŠVm Am{U J«mhH$ ~) J«mhH$ Am{U Cn^moŠVm

H$) IaoXrXma Am{U {dH«o$Vm S>) IaoXrXma Am{U J«mhH$

v) gm_m{OH$ {dnUZ g§H$ënZm ................ er g§~§YrV Amho.

A) CËnmXZ ~) J«mhH$ {ejU

H$) g_mO S>) darbn¡H$s gd©

3 P.T.O.
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vi) .................. ho "{S>OrQ>b {dnUZm_Ü`o g_m{dï> hmoV Zmhr.

A) Q>r.ìhr. ~) aoS>rAmo

H$) qH$_V \$bH$ S>) darb gd©

~) OmoS>çm bmdm … [5]

aH$mZm "A' aH$mZm "~'

i) {dH«$s A) n`m©daUr` gwajrVVm

ii) g§doð>Z ~) dV©_mUnÌ

iii) qH$_V nÕVr H$) {H$aH$moi IM© qH$_V

iv) Om{haVrMm àH$ma S>) AmH$f©H$ H$ìha

v) harV {dnUZ B©) CËnmXmZmYmarV Ñï>rH$moU

àíZ àíZ àíZ àíZ àíZ 2) {Q>nm {bhm (H$moUË`mhr 2) … [10]

A) {dnUZmMr ì`már

~) {dnUZ {_lMo 7 nr

H$) harV {dnUZ

S>) qH$_V {ZpíMVrMo CÔoe

àíZ àíZ àíZ àíZ àíZ 3) A) ~mOmanoR> ì`m»`m Úm. ~mOmanoR>oMo àH$ma ñnï> H$am. [8]

~) {dnUZ {_lda narUm_ H$aUmao n`m©daUr` KQ>H$ ñnï> H$am. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) dñVy OrdZ MH«$ åhUOo H$m`? dñVyOrdZ MH«$mMr Amdí`H$Vm ñnï> H$am. [8]

~) {dnUZmVrb ZdrZ àdmh ñnï> H$am. [7]


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Q1) A) Fill in the blanks (Any 5) : [5]
i) __________ is an index of Bombay Stock Exchange.

a) NIFTY b) SENSEX
c) BANK NIFTY d) NASDAQ

ii) _________ companies are comprises in the NIFTY index of
National Stock Exchange.
a) 30 b) 100
c) 50 d) 500

iii) The lot size of NIFTY option is _________.
a) 25 b) 40
c) 75 d) 50

iv) Life insurance corporation was founded on __________.
a) September 1, 1956 b) December 6, 1960
c) April 1, 1949 d) March 1, 1969

v) _________ is not a Non Banking Financial Institution.
a) Bajaj Finance b) Tata Capital Finance
c) LIC d) State Bank of India

vi) Zindagi ke Sath Bhi Zindagi ke Baad Bhi
a) GIC b) LIC
c) IDBI d) IRDA

SEAT No. :

P.T.O.
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B) Match the following : [5]
1) BSE a) Insurance Industries
2) SEBI b) Commodity
3) Gold c) 1875
4) Muthoot Finance d) 1992
5) IRDA e) NBFC

Q2) Write short notes : (Any two) [10]
a) Merchant Banking
b) Cash Market
c) Working of LIC
d) Organization of SEBI

Q3) a) Explain Bombay Stock Exchange. [8]
b) Explain the types of Stock Trading. [7]

Q4) a) Explain the functions of Lease financing. [8]
b) Explain the working of SEBI. [7]


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àíZ 1) A)A)A)A)A) [aH$må¶m OmJm ^am (H$moUVohr [aH$må¶m OmJm ^am (H$moUVohr [aH$må¶m OmJm ^am (H$moUVohr [aH$må¶m OmJm ^am (H$moUVohr [aH$må¶m OmJm ^am (H$moUVohr 5))))) [5]
i) ................. hm ‘w§~B© ^mJ ~mOmamMm (BSE) {ZX}em§H$ Amho.

A) {ZâQ>r ~) goÝgo³g
H$) ~°H$ {ZâQ>r S>) Z°ñS>°H$

ii) amï´>r¶ ^mJ ~mOmamÀ¶m {ZâQ>r ¶m {ZX}em§H$mV ............ H§$nÝ¶m g‘m{dï> AmhoV.
A) 30 ~) 100
H$) 50 S>) 500

iii) {ZâQ>r Am°ßeZMm bm°Q> AmH$ma ............. AgVmo.
A) 25 ~) 40
H$) 75 S>) 50

iv) Am¶w{d©‘m ‘hm‘§S>imMr (LIC) ñWmnZm ................. amoOr Pmbr.
A) 1 gßQ>|~a 1956 ~) 6 {S>g|~a 1960
H$) 1 E{àb 1949 S>) 1 ‘mM© 1969

v) .................. hr ~±Ho$Îma {dÎmr¶ g§ñWm Zmhr.
A) ~OmO ’$m¶ZmÝg ~) Q>mQ>m H°${nQ>b ’$m¶ZmÝg
H$) Eb.Am¶.gr. S>) ^maVr¶ ñQ>oQ> ~±H$

vi) "qOXJr Ho$ gmW ^r Am¡a qOXJr Ho$ ~mX ^r' ho Kmofdm³¶ ............... Mo Amho.
A) Or.Am¶.gr. ~) Eb.Am¶.gr.
H$) Am¶.S>r.~r.Am¶. S>) Am¶.Ama.S>r.E.

P.T.O.



[5952]-607 4

~) OmoS>çm Owidm. [5]
1) ~r.Eg.B© A) {d‘m ì¶dgm¶
2) go~r ~) H$‘mo{S>Q>r
3) gmoZo H$) 1875
4) ‘wÏWwQ> ’$m¶ZmÝg S>) 1992
5) Am¶. Ama. S>r. E. B) EZ. ~r. E’$. gr.

àíZ 2) {Q>nm {bhm. (H$moUVohr XmoZ) [10]
A) ‘MªQ> ~±qH$J
~) amoIo ~mOma
H$) Am¶w{d©‘m ‘§hm‘§S>imMr H$m¶©nÕVr
S>) go~rMo g§KQ>Z

àíZ 3) A) ‘w§~B© ^mJ~mOma ñnï> H$am. [8]
~) eoAa Q´>oqS>JMo àH$ma ñnîQ> H$am. [7]

àíZ 4) A) ^mS>onQ²>Q>m {dÎmnwadR>¶mMr H$m¶} ñnï> H$am. [8]
~) go~rMr H$m¶©nÕVr ñnï> H$am. [7]


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Q1) A) Fill in the blank with the most appropriate alternative (any Five)
[5]

i) Company Law in India has been modelled on the _________
Company Law.
(English, American, Russian)

ii) The term ‘____________’ is defined as ‘the act or an instance of
unjustly exercising power.
(Mismanagement, Oppession, Abuse)

iii) As per majority rule, a resolution passed by the majority of members
is binding on the company and consequently on the _________.
(Minority, Creditors, Directors)

iv) __________ means a peaceful or willing full settlement of a dispute
by mutual adjustment and concessions.
(Compromise, Arrangement, Arbitration)

v) Corporations are controlled and directed by _________ .
(Corporate Ethics, Corporate Governance, Corporate Code)

vi) Corporate Governance is a form of __________ .
(Self-Regulation, Government Control, External regulations)

SEAT No. :

P.T.O.
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B) Match the following : [5]
Column A Column B

1) The Companies Act, 1956 a) Investigate into the affairs
of the company

2) Inspection b) Ministry of Corporate
Affairs

3) Mismanagement c) Cadbury Committee
4) Good Gover nance & Accountability d) Bhabha Committee
5) Management of all companies in e) Conducting affairs in some

India prejudicial, dishonest or
inept manner

Q2) Write short note : (Any 2) [10]
a) Social Responsibilities of Companies.
b) Explain the concept of Oppression.
c) Scheme of Compromise and Arrangement.
d) Corporate Gover nance

Q3) a) What is Company? Explain the characteristics of company. [8]
b) What is meant by “Majority Rule and Minority Rights” under Companies

Act? [7]

Q4) a) Explain the rights and duties of inspector. [8]
b) Explain the key features of corporate governance. [7]


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365 (C) : BUSINESS LAW & PRACTICES - II
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(_amR>r ê$nm§Va)
doi : 2½ Vmg]                      [EHy$U JwU : 50
gyMZm : 1) gd© àíZ A{Zdm¶© AmhoV.

2) COdrH$S>o {Xbobr g§»¶m nyU© JwU Xe©dVmV.

PA-1887

àíZ 1) A)A)A)A)A) [aH$må¶m OmJm ^am. (H$m oUË¶mhr [aH$må¶m OmJm ^am. (H$m oUË¶mhr [aH$må¶m OmJm ^am. (H$m oUË¶mhr [aH$må¶m OmJm ^am. (H$m oUË¶mhr [aH$må¶m OmJm ^am. (H$m oUË¶mhr 5))))) [5]
i) ^maVmVrb H§$nZr H$m¶Xm ................ H§$nZr H$m¶Úmda AmYm[aV AmhoV.

(B§J«Or, A‘o[aH$Z, a{e¶Z)

ii) "......................' ¶m g§koMr ì¶m»¶m "H$m¶Xm qH$dm AÝ¶mæ¶nUo gÎmm dmnaÊ¶mMo
CXmhaU' Aer H$aÊ¶mV Ambr Amho.
(J¡aì¶dñWmnZ, dS>nemhr, J¡adV©Z)

iii) ~hþ‘VmÀ¶m {Z¶‘mZwgma, ~hþg§»¶ g^mgXm§Zrnmg Ho$bobm R>amd H§$nZrda Am{U
............... da ~§YZH$maH$ AgVmo.
(Aëng§»¶m§H$, F$UH$mo, g§MmbH$)

iv) ................... åhUOo nañna g‘m¶moOZ Am{U gdbVtÛmao {ddmXmMm em§VVmnyU©
qH$dm ñdoÀN>oZo nyU© {ZnQ>mam H$aUo.
(VS>OmoS>, ì¶dñWm, bdmX)

v) ì¶mdgm{¶H$ g§ñWm§Mo {Z¶§ÌU Am{U {ZX}eZ ................ Ûmao Ho$bo OmVo.
(ì¶mdgm{¶H$ {ZVr‘wë¶o, H$m°nm}aoQ> àemgZ, ì¶mdgm{¶H$ g§{hVm)

vi) H$m°nm}aoQ> JìhZ©Ýg hm ................... Mm EH$ àH$ma Amho.

(ñd¶§-{Z¶‘Z, gaH$mar {Z¶§ÌU, ~mø {Z¶‘Z)

P.T.O.
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~) ¶mo½¶ OmoS>çm Owidm : [5]
aH$mZm A  aH$mZm ~

1) H§$nZr H$m¶Xm 1956 A) H§$nZrÀ¶m H$ma^mamMr Mm¡H$er

2) VnmgUr ~) H$m°nm}aoQ> ì¶dhma ‘§Ìmb¶

3) J¡aì¶dñWmnZ H$) H°$S>~arg{‘Vr

4) gw-emgZ Am{U CÎmaXm{¶Ëd S>) ^m^mg{‘Vr

5) ^maVmVrb gd© H§$nÝ¶m§Mo ì¶dñWmnZ S>) H$mhr nyd©J«hXÿ{fV, Aàm‘m{UH$ qH$dm
A¶mo½¶ nÕVrZo ì¶dhma H$aUo

àíZ 2) WmoS>³¶mV {Q>nm {bhm : (H$moUË¶mhr 2) [10]
A) H§$nZrÀ¶m gm‘m{OH$ O~m~Xmè¶m.

~) XS>nemhrMr g§H$ënZmñnï> H$am.

H$) VS>OmoS> Am{U ì¶dñWm ¶moOZm.

S>) H$m°nm}aoQ> JìhZ©Ýg

àíZ 3) A) H§$nZr åhUOo H$m¶? H§$nZrMr d¡{eï>¶o ñnï> H$am. [8]
~) H§$nZr H$m¶Úm§VJ©V ""~hþ‘V {Z¶‘ Am{U Aëng§»¶mH$ h³H$'' åhUOo H$m¶? [7]

àíZ 4) A) {ZarjH$mMo h³H$ Am{U H$V©ì¶o ñnï> H$am. [8]
~) H$m°nm}aoQ> JìhZ©ÝgMr à‘wI d¡{eï²>¶o ñnï> H$am. [7]


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Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right side indicate full marks.

PA-1864

Q1) A) Fill in the blanks : (Any 5) [5]
i) Export marketing means acquiring _________ markets.

a) Oversease
b) Indian
c) Local

ii) The Head quarter of NAFED is at ___________.
a) Mumbai
b) Delhi
c) Kolkata

iii) APMCS are controlled by ___________ Government.
a) State
b) Central
c) District

iv) The area of APMC is restricted to __________.
a) Tehsil
b) District
c) Nation

v) The model APMC ACE cames into force in ___________ 2003.
a) July
b) August
c) September

SEAT No. :

P.T.O.
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vi) Promotion of Agriculture marketing is the objective of _________.
a) NAFED
b) Society
c) Government

B) Match the following : [5]
‘A’ ‘B’

1) Export-Marketing a) Agriculture produce market
committee

2) NAFED b) Economic Growth
3) APMC c) Agriculture Federation
4) APMC Model Act 2003 d) Development of efficient

marketing system
5) Objectives of APMC e) Provisions to APMC.

Q2) Write short notes : (Any two) [10]
a) Importance of marketing strategy in Co-Operatives.
b) Co-Operative services Marketing.
c) Organisational set-up of NAFED.
d) Functions of APMC.

Q3) a) State the strategy for exporting agriculture produce. [8]
b) State the functions of NAFED. [7]

Q4) a) State the importance of APMC. [8]
b) State the basic features of APMC model Act. 2003. [7]


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[5952]-609
T. Y. B.Com. (Semester - VI)

ghH$ma Am{U J«m‘rU {dH$mg ({dfoe nona - II)
(2019 Pattern) (CBCS) (365(D))

(_amR>r ê$nm§Va)
doi : 2½ Vmg]                      [EHy$U JwU : 50

gyMZm : 1) gd© àíZ gmoS>{dUo A{Zdm¶© AmhoV.

2) COì¶m ~mOyMo A§H$ nyU© JwU Xe©dVmV.

PA-1864

àíZ 1) A)A)A)A)A) [aH$må¶m OmJm ^am : (H$m oUË¶mhr nmM)[aH$må¶m OmJm ^am : (H$m oUË¶mhr nmM)[aH$må¶m OmJm ^am : (H$m oUË¶mhr nmM)[aH$må¶m OmJm ^am : (H$m oUË¶mhr nmM)[aH$må¶m OmJm ^am : (H$m oUË¶mhr nmM) [5]
i) {Z¶m©V {dnUZ åhUOo ............ ~mOmanoR> H$m~rZ H$aUo.

A) naH$s¶

~) ^maVr¶

H$) ñWm{ZH$

ii) "Zm’o$S>' Mo ‘w»¶mb¶ ............... ¶oWo Amho.

A) ‘w§~B©

~) {Xëbr

H$) H$mobH$mVm

iii) H¥${f CËnÞ ~mOma g{‘Ë¶m ................ X²dmao {Z¶§{ÌV Ho$ë¶m OmVmV.

A) amÁ¶ gaH$ma

~) H|$ÝÐ gaH$ma

H$) {Oëhm gaH$ma

iv) H¥$fr CËnÞ ~mOma g{‘Ë¶m§Mr ì¶már ................ nyaVr ‘¶m©XrV AgVo.

A) Vh{gb

~) {Oëhm

H$) Xoe

P.T.O.
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v) AYy{ZH$ H¥$fr CËnÞ ~mOma g{‘Vr H$m¶Xm 2003 .............. ‘Ü¶o ApñVËdmV
Ambm.
A) Owb¡
~) Am°JñQ>
H$) gßQ>|~a

vi) H¥$fr‘mb {dnUZ àmoËgmhZ ho .................. Mo CÔrï> Amho.
A) Zm’o$S>
~) gmogm¶Q>r
H$) gaH$ma

~) ¶mo½¶ OmoS>¶m Owidm : [5]
"A' "~'

1) {Z¶m©V {dnUZ A) APMC
2) Zm’o$S> ~) Am{W©H$ d¥Õr
3) H¥$fr CËnÞ ~mOma g{‘Vr H$) amï´>r¶ ’o$S>aoeZ
4) AYw{ZH$ H¥$fr CËnÞ ~mOma g{‘Vr S>) à^mdr {dnUZ nÕVr {dH$mg

H$m¶Xm - 2003
5) H¥$fr CËnÞ ~mOma g{‘Vr CÔoe B) ~mOma g{‘Vr VaVyXr

àíZ 2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]
A) ghH$mamVrb {dnUZ ì¶yhaMZoMo ‘hËd.
~) H¥$fr godm ghH$mar {dnUZ.
H$) "Zm’o$S>' Mr g§KQ>ZmË‘H$ aMZm.
S>) H¥$fr CËnÞ ~mOma g{‘VtMr H$m¶}.

àíZ 3) A) H¥$fr ‘mb {Z¶m©V H$aÊ¶mMr ì¶yhaMZm gm§Jm. [8]
~) Zm’o$S> Mr H$m¶} gm§Jm. [7]

àíZ 4) A) H¥$fr CËnÞ ~mOma g{‘Ë¶m§Mr ‘hËd gm§Jm. [8]
~) H¥$fr CËnÞ ~mOma g{‘Vr (AYw{ZH$) H$m¶Xm 2003 Mr ‘w»¶ d¡{eï>¶o gm§Jm. [7]





Q1) A) Fill in the blanks (Any five out of 6) [5×1=5]
i) _____________is a system in which costs are assigned to batches

or work orders of production
a) Job costing b) Contract costing
c) Process costing d) Marginal costing

ii) ______________is a special type of job costing, where the unit of
cost is a single contract
a) Prime cost b) WIP cost
c) Contract Costing d) Total cost

iii) _______________ is someone who is hired to build something.
a) Contractor b) Manager
c) Entrepreneur d) Director

iv) _________is a method wherein the products go through two or
more processes.
a) WIP b) Process costing
c) Joint process d) By process

v) ____________ are two or more products that are generated within
a single production process
a) Single products b) By products
c) Joint products d) WIP products

vi) __________ is a method of cost ascertainment used in those
undertakings which provide services
a) Service costing b) Total costing
c) By products d) Production costs

Total No. of Questions : 4]

[Total No. of Pages : 3
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B) Match the following : [5]
i) Work certified - secondary product
ii) Service Costing - inherited loss
iii) Normal loss - Cost unit per meter
iv) Cotton Mills - Transportation Service
v) By-product - work completed and certified by the

engineer

Q2) Short Notes (Any two out of three) [10]
a) Contract costing
b) Service costing
c) Cost of service cost center

Q3) The following details of contract A are available as on 31/03/2021. [15]
Particulars Rs.
Contract Price 6,00000
Materials issued to contract 1,60,000
Materials returned to stores 4,000
Material on site on 31/03/2021 22,000
Materials transferred to contract B 9,000
Direct Labour 1,4,0000
Chargeable expense outstanding 6,000
Wages payable 2,000
Direct expense 60,000
Hire of special machinery 10,000
Administration overheads 25,000
Plant installed at site at cost 75,000
Cost of contract not yet certified 23,000
Plant installation charges 5,000
Value of work certified 4,20,000
Value of plant on 31/03/2021 65,000
Cash received from contractee 3,78,000
You are required to prepare Contact A A/c for the year ended 31/03/2021.
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Q4) A product passes through three processes A, B & C. During monthly period
1000 units are produced with which the following information is available:-

[15]
Particulars A B C
Direct material 2000 1000 1000
Direct labour 1500 700 800
Direct expense 300 100 100
Indirect expenses amounted to Rs.4500 and they are to be apportioned to the
process on the basis of Direct Material. Prepare process account showing the
total cost per unit at each process.

OR
From the following information relating to the vehicle, calculate the cost per
running kilometer. [15]
Particulars
Cost of Vehicle 100000
Road License Fees (annual) 5100
Garage Rent (annual) 4800
Insurance Charges (annual) 2100
Supervision and salary (annual) 12000
Drivers Wages per hour 2.00
Cost of Diesel per liter 4.00
Repairs and Maintenance per km 2.20
Tyres and Batteries per km 1.80
Kilometers run per liter 20 km
Kilometers run annually 20000 km
Estimated Life of the vehicle 100000 km.
You are required to charge interest on cost of vehicle @10% p.a. the vehicle
runs 20 km per hour on an average.


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Q1) Attempt the following :

A) Choose the correct alternative of the following  (Any Five) :
[1 Mark Each]

a) Lottery method is an example of __________ sampling.

i) SRS ii) Stratified

iii) Systematic iv) Two Stage

b) The complementary hypothesis to the null hypothesis is called as

i) Null Hypothesis ii) Alternative Hypothesis

iii) Two-sided iv) One-sided

c) Let X   N (6, 0.5) then mean of X is

i) 4 ii) 6

iii) 0 iv) 1

SEAT No. :

P.T.O.
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d) We want to test H0 : Two attributes A and B are independent and
both the attributes are at two levels. Then under H0, the statistic
used is

i) 2
2χ ii) 2

4χ

iii) 2
3χ iv) 2

1χ

e) Testing H0 : P = 50 against H1 : P   50 is a

i) one sided left tailed test

ii) one sided right tailed test

iii) two sided test

iv) both i) and ii)

f) Stratified sampling is used when the population is :

i) Homogeneous ii) Heterogeneous

iii) Very Large iv) Too small

g) The ___________ sum of squares measures the variability of the
observed values around their respective treatment means.

i) Error ii) Total

iii) Treatment iv) Interaction

B) State whether the following statements are TRUE or FALSE :
[1 Mark Each]

a) Type I error is rejecting H1 when it is true.

b) In simple random sampling method, each unit of the population has
an equal chance of being included in the sample.

c) Total area under the normal curve remains 1 and it is true for all
continuous probability distributions.

d) ANOVA is used to compare 2 or more qualitative variables.

e) Large sample tests are used when n is greater than 30.



Q2) Write short note (Any Two) : [5 Marks Each]
a) Type I and Type - II error.
b) Stratified Sampling.
c) Two Way Classification.
d) Chi-square test of goodness of fit for population.

Q3)  A) Attempt the following :
a) The length of a human pregnancy is normally distributed with a

mean of 272 days with a standard deviation of 9 days. [4]
i) Find the probability of a pregnancy lasting more than 280 days.
ii) Find the probability of a pregnancy lasting less than 250 days.

b) In a department examination, the candidates of both sexes yielded
as presented in following table : [4]

Sex Pass Fail

Male 1 6

Female 7 6

Can it have inferred that the result of the test is related to the sex of
the candidates? Use 5% level of significance.

(Given : 2
1χ , 0.05 = 3.841)

B) Attempt the following :
a) Fill in the blanks of the following ANOVA tables marked “–” [4]

Source of Degrees of Sum of Mean Sum Variance
variation freedom squares of squares Ratio
Between 4 45 - -
Salesman
Between 3 91 - -
Months
Error 8 80 -
Total 15 216

Test the homogeneity of machine types and workers. Use 5% level of significance.

[5952]-611   3
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b) A population has mean 75 and standard deviation 12. [3]

i) Random samples of size 121 are taken. Find the mean and standard
deviation of the sample mean.

ii) How would the answers to part (i) change if the size of the samples
Where 400 instead of 121?

Q4)  A) Attempt the following :
a) The gain in weights (in lbs) of pigs fed on two diets A and B are

given below : [4]
Diet Gain in weight
A 25, 32, 30, 34, 24, 14, 32, 24, 30, 31, 35, 25
B 44, 34, 22, 10, 47, 31,40, 30, 32, 35, 18, 21, 35, 29, 22

Test whether the two diets differ significantly regarding their effect
on increase in weights. [Given t25,0.05 = 2.0595]

b) In a random sample of 800 persons from rural area 200 were found
to be smokers. In a sample of 1000 persons from urban area 350
were found to be smokers. Test whether proportion of smokers is
same for both populations. (Use 5% level of significance) [4]

B) Attempt the following :

a) The mean mathematics SAT score in 2012 was 514 with a standard
deviation of 1 ("Total group profile," 2012). Assume the mathematics
SAT score is normally distributed. [4]

i) Find the probability that a person has a mathematics SAT score
over 700.

ii) Find the probability that a person has a mathematics SAT score
between a 500 and a 650.

b) Write any two Properties of Normal Distribution. [3]





Total No. of Questions : 4]

[Total No. of Pages : 4

[5952]-612
T.Y. B.Com. (Semester - VI)

BUSINESS ENTREPRENEURSHIP - II
(2019 Pattern) (365(g))

Time : 2½ Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-1867

Q1) A) Fill in the blanks (Attempt any five out of six) : [5]
i) ________ is to estimate the demand of the proposed product in

the future.
a) Financial Plan b) Price Analysis
c) Market Analysis

ii) _________ plan lays down strategies for marketing a product/
service which can lead to success of business.
a) Production b) Human Resource
c) Marketing

iii) _______ Approach in business enterprise give to entrepreneur an
unfair advantage in enterprise.
a) Logical b) Creative
c) Teamwork

iv) Revival schemes of sickness the Government of India has setup a
statutory body named ______.
a) BIFR b) FEMA
c) MRTP

v) Start-up India launched in the year ______.
a) 2014 b) 2015
c) 2016

vi) Toppr was founded in the year _______.
a) 2011 b) 2012
c) 2013

SEAT No. :

P.T.O.
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B) Match the following : [5]
i) Industrial Sickness a) 2015
ii) Sharechat b) 2006
iii) Paytm c) Risk Management Methods
iv) MSME Act d) Vijay Sharma
v) ERM e) Lack of finance

Q2) Write Short Notes (Attempt Any Two) : [10]
a) Human Resource Aspects
b) Flexible approach
c) Crisis under Covid-19
d) Significance of startup in entrepreneurship

Q3) a) Explain Marketing Aspects and Technical Aspects. [8]
b) What are the documents required for Udyog Aadhar MSME registration.

[7]

Q4) a) Explain the features of turnaround strategy of sickness. [8]
b) Explain the significance and advantages of start-ups. [7]


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BUSINESS ENTREPRENEURSHIP - II
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(_amR>r ê$nm§Va)
doi : 2½ Vmg]                      [EHy$U JwU : 50
gyMZm :- 1) gd© àíZmMr CÎmao {b{hUo Amdí`H$ AmhoV.

2) COdrH$S>rb A§H$ àíZmMo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.
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àíZ 1) A) [aH$må`m OmJm ^am. (H$moUË`mhr nmM) [5]

i) ........... åhUOo ^{dî`mV àñVm{dV CËnmXZmÀ`m _mJUrMm A§XmO bmdUo.

A) Am{W©H$ `moOZm ~) qH$_V {díbofU

H$) ~mOmamMo {díbofU

ii) .............. `moOZm CËnmXZ/godoÀ`m {dnUZmgmR>r YmoaUo _m§S>Vo Á`m_wio ì`dgm`
`eñdr hmoD$ eH$Vmo.

A) CËnmXZ ~) _mZd g§gmYZ

H$) {dnUZ

iii) .................. ì`dgm` CÚmoJmVrb Ñï>rH$moZ CÚmoOH$mbm E§Q>aàmBP_Ü ò AZw{MV
\$m`Xm XoVmo.

A) Vm{H©$H$ ~) {H«$E{Q>ìh

H$) Q>r_dH©$

iv) AmOmamÀ`m nwZê$ÁOrdZ ̀ moOZm§gmR>r ̂ maV gaH$maZo .............. ZmdmMr d¡Ym{ZH$
g§ñWm ñWmnZ Ho$br Amho.

A) BIFR ~) FEMA

H$) MRTP

P.T.O.
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v) ñQ>mQ>©-An B§{S>`m `m dfu gwê$ H$aÊ`mV Ambo ..............
A) 2014 ~) 2015
H$) 2016

vi) Toopr Mr ñWmnZm .............. dfm©V Pmbr.

A) 2011 ~) 2012
H$) 2013

~) OmoSçm bmdm. [5]
i) Am¡Úmo{JH$ AmOma A) 2015
ii) eoAaM°Q> ~) 2006
iii) noQ>rE_ H$) OmoIr_ ì`dñWmnZ nÕVr
iv) E_EgE_B© H$m`Xm S>) {dO` e_m©

v) ERM B) {dÎmmMm A^md

àíZ 2) {Q>nm {bhm. (H$moUË`mhr XmoZ) [10]
A) _mZd g§gmYZ n¡by
~) bd{MH$ Ñï>rH$moZ
H$) H$mo{dS>-19 A§VJ©V g§H$Q>

S>) CÚmoOH$Vo_Ü ò ñQ>mQ>©AnMo _hÎd

àíZ 3) A) {dnUZ n¡by Am{U Vm§{ÌH$ ~m~r ñnï> H$am. [8]
~) CÚmoJ AmYma E_EgE_B© Zm|XUrgmR>r H$moUVr H$mJXnÌo Amdí`H$ AmhoV. [7]

àíZ 4) A) AmOmanUmÀ`m diUmÀ`m YmoaUmMr d¡{eï>ço ñnï> H$am. [8]
~) ñQ>mQ>©-AnMo _hÎd Am{U \$m`Xo ñnï> H$am. [7]


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Q1) Fill in the blanks with most appropriate word in the bracket (Any 5) [5]

i) Agriculture Product is_________

(Perishable, Durable, Artificial)

ii) _________ is any word, phrase, symbol or design that helps to
distinguish one product from another.

(Trademark, Competition, Mark)

iii) The Global Marketing is strongly affected by the________ of the country.

(Political Environment, Logistics Environment, Business Environment)

iv) ________ is essential as a cyber security marketing strategy.

(Education, Trust, Self-dependence)

v) ________ is not the features of Global Market.

(Advanced Technology, Credit Risk, Small scale operation)

vi) Backbone of Indian economy is ________

(Technology, Agriculture, Artificial production)

Total No. of Questions : 5]
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Q2) Match the group : [5]
Group ‘A’ Group ‘B’

i) Consumer Protection Act a)  2016

ii) Trademark Act b) 2005

iii) Competition Act c) 1986

iv) Indian Patent Amendment Act d) 2002

v) Bureau of Indian Standard e) 1999

Q3) Write short notes on (Any 2) : [10]
a) Storage function in agriculture marketing
b) Competition Act 2002
c) Political Factors affecting Global Marketing
d) Challenges of Cyber Security marketing.

Q4) a) Explain the Problems of agricultural Marketing. [8]
b) What is trademark and explain the different types of Trademarks? [7]

Q5) a) Define Global Marketing . Explain the different features of Global market.
[8]

b) Explain the advantages of cyber security marketing. [7]


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àíZ 1) [aH$må¶m OmJr H§$gmVrb ¶mo½¶ n¶m©¶ dmnê$Z {dYmZo nyU© H$am. (H$moUVohr nmM) [5]

i) H¥$fr ‘mb hm ............... AgVmo.

(Zmed§V, {Q>H$mD$, H¥${Ì‘)

ii) ........... hm eãX, dm³¶m§e à{VH$ qH$dm aMZm Amho Omo EH$ dñVybm Xþg¶m© dñVynmgyZ
doJim H$aVmo.

(ì¶mnmar {MÝho, ñnYm©, {MÝh)

iii) XoemÀ¶m OmJ{VH$ {dnUZmda .............. Mm n[aUm‘ hmoVmo.

(amOH$s¶ n[apñWVr, dmhVwH$s, ì¶mdgm{¶H$ n[apñWVr)

iv) gm¶~a gwajm {dnUZ YmoaUm‘Ü¶o ................ Mr Amdí¶H$Vm Amho.

({ejU, {dídmg$, AmË‘{Z ©̂aVm)

v) ........... ho OmJ{VH$ ~mOmanoR>oMo d¡{eï²>¶ Zmhr.

(AmYw{ZH$ V§ÌkmZ, CYmarVrb YmoH$m, bKw CX²¶moJ)

vi) ^maVr¶ AW© ì¶dñWoMm H$Um åhUOo ..............

(V§ÌkmZ, H¥$fr, H¥${Ì‘ CËnmXZo)

P.T.O.
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àíZ 2) OmoSçm bmdm. [5]
JQ> A JQ> ~

i) J«mhH$ g§ajU H$m¶Xm A) 2016
ii) ì¶mnmar {MÝho H$m¶Xm ~) 2005
iii) ñnYm© H$m¶Xm H$) 1986
iv) ^maVr¶ noQ>§Q> Xþê$ñVr H$m¶Xm S>) 2002
v) ^maVr¶ ‘mZH$ ã¶wamo H$m¶Xm B) 1999

àíZ 3) Imbrbn¡H$s H$moUË¶mhr Xmohm§oda Q>rnm {bhm. [10]
A) H¥$fr {dnUZ gmR>dUyH$ H$m¶©
~) ñnYm© H$m¶Xm 2002
H$) OmJ{VH$ {dnUZmda n[aUm‘ H$aUmao amOH$s¶ KQ>H$
S>) gm¶~a gwajm {dnUZmg‘moarb AmìhmZo

àíZ 4) A) H¥$fr {dnUZmÀ¶m g‘ñ¶m ñnï> H$am. [8]
~) ì¶mnmar {MÝho åhUOo H$m¶?Ë¶m§Mo àH$ma ñnï> H$am. [7]

àíZ 5) A) OmJ{VH$ {dnUZmMr ì¶m»¶m XoD$Z OmJ{VH$ ~mOmanoR>oMr {d{dY d¡{eï²>¶o ñnï> H$am. [8]
~) gm¶~a gwajm {dnUZmMr ’$m¶Xo ñnï> H$am. [7]





Q1) a) Fill in the blanks (Attempt any 5 out of 6) : [5]

i) The major problem of agricultural labour is _________.

(Less wages, high illiteracy rate, high capital, high standard of
living)

ii) Make in India initiative was launched by prime minister in _____.

(2017, 2020, 2014, 2008)

iii) Mainly ________ factors affecting industrial relations.

(Economic, political, social, cultural)

iv) The main economic characteristics of agricultural labour is ______

(seasonal employment, high standard of living, low income level,
high illiteracy rate)

v) _________ refers to all types of relationship between all parties
concerned with industry.

(General relations, political relations, human relations, Industrial
relations)

vi) The Industrial relation dispute act was passed in _______.

(1950, 1947, 1965, 1993)

Total No. of Questions : 4]
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b) Match the following : [5]

i) National manufacturing policy a) New Industrial unit

ii) FPO's are related to b) Less wage

iii) Start up India c) Farmers

iv) Agriculture labour problem d) 2011

v) Make in India e) 2014

Q2) Write a short notes (any 2 out of 5) : [10]

a) Maharashtra Industrial policy 2019.

b) Problems of agricultural labour

c) Industrial relations in changings scenario

d) Types of agricultural labour

e) Water management Intiatives

Q3) a) Explain in detail the problems of agriculture labour. [8]

b) Describe the historical background of Industrial relations. [7]

Q4) a) Explain in detail the impact of climate resilience on agriculture. [8]

b) Write a detail note on Impact of covid-19 pandemic on Indian
agriculture sector. [7]


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àíZ àíZ àíZ àíZ àíZ 1) A)A)A)A)A) [aH$må`m OmJm ^am …[aH$må`m OmJm ^am …[aH$må`m OmJm ^am …[aH$må`m OmJm ^am …[aH$må`m OmJm ^am … [5]

i) .............. hr eoV_Oyam§Mr _w»` g_ñ`m Amho.

(H$_r doVZ, Cƒ {ZajaVm Xa, Cƒ ^m§S>db, Cƒ amhUr_mZ)

ii) n§VàYmZm§Ûmam _oH$BZ B§{S>`m ............... `mdfu gwê$ H$aÊ`mV Ambr.

(2017, 2020, 2014, 2008)

iii) _w»`V… Am¡Úmo{JH$ g§~§Ym§da ............. KQ>H$ n[aUm_ H$aVmV.

(Am{W©H$, amOH$s`, gm_m{OH$, gm§ñH¥${VH$)

iv) eoV_Oyam§Mo à_wI Am{W©H$ d¡{eï>ço ................ ho Amho.

(h§Jm_r amoOJma, Cƒ amhUr_mZ, {ZåZ CËnÞ Xa, Cƒ {ZajaVm Xa)

v) CÚmoJm§er g§~§{YV {d{dY njm§ _Yrb g§~§Y `mg ............... Ago åhUVmV.

(gm_mÝ` g§~§Y, amOH$s` g§~§Y, _mZdr g§~§Y, Am¡Úmo{JH$ g§~§Y)

vi) Am¡Úmo{JH$ g§Kf© H$m`Xm .............. `mdfu g§_V H$aÊ`mV Ambm.

(1950, 1947, 1965, 1993)

3 P.T.O.
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~)~)~)~)~) `mo½` OmoS>çm bmdm …`mo½` OmoS>çm bmdm …`mo½` OmoS>çm bmdm …`mo½` OmoS>çm bmdm …`mo½` OmoS>çm bmdm … [5]

i) amï´>r` {d{Z_m©U YmoaU A) ZdrZ Am¡Úmo{JH$ KQ>H$

ii) FPO's Mm g§~§Y ~) H$_r doVZ

iii) ñQ>mQ>© An B§{S>`m H$) eoVH$ar

iv) eoV_Oyam§Mr g_ñ`m S>) 2011

v) _oH$ BZ B§{S>`m B©) 2014

àíZ àíZ àíZ àíZ àíZ 2) {Q>nm {bhm …{Q>nm {bhm …{Q>nm {bhm …{Q>nm {bhm …{Q>nm {bhm … [10]

A) _hmamï´> Am¡Úmo{JH$ YmoaU 2019

~) eoV_Oyam§À`m g_ñ`m

H$) ~XbË`m n[apñWVrV Am¡Úmo{JH$ g§~§Y

S>) eoV _Oyam§Mo àH$ma

B) Ob ì`dñWmnZ CnH«$_

àíZ àíZ àíZ àíZ àíZ 3) A) eoV_Oyam§À`m g_ñ`m g{dñVa ñnï> H$am. [8]

~) Am¡Úmo{JH$ g§~§Ym§Mr Eo{Vhm{gH$ nmíd©̂ y_r {deX H$am. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) hdm_mZ ~XbmMo H¥$fr joÌmdarb n[aUm_ ñnï> H$am. [8]

~) ^maVr` H¥$fr joÌmdarb H$moamoZm-19 _hm_marMo n[aUm_ `mda {Q>n {bhm. [7]





Q1) Attempt any five of the following : [5 × 2 = 10]

a) Define defence management.

b) Define armed forces.

c) What is logistic management?

d) What is decision making?

e) Define logistics.

f) Define non military organization.

Q2) Attempt any four of the following : [4 × 5 = 20]

a) Logistic management

b) Decision making

c) Ministry of defence

d) Military organization

e) Defence

Total No. of Questions : 4]
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Q3) Attempt any four of the following : [4 × 5 = 20]

a) State the principles of non military organization.

b) State the principles of military organization.

c) Explain types of military organization.

d) Explain decision making process of Indian armed forces.

e) Explain Nature and scope of Defence management.

Q4) Attempt any two of the following : [2 × 10 = 20]

a) Explain in detail problems of defence production in India.

b) Explain in detail the significance and historical evolution of Indian
defence logistic management.

c) Explain in detail scope of logistics management in Indian armed forces.


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àíZ àíZ àíZ àíZ àíZ 1) Imbrbn¡H$s H$moUVohr nmM àíZ gmoS>dm. [5 × 2 = 10]

A) g§ajU ì`dñWmnZ ì`m»`m H$am.

~) goZmXbo ì`m»`m H$am.

H$) nwadR>m ì`dñWmnZ åhUOo H$m`?

S>) {ZU©̀  à{H«$`m åhUOo H$m`?

B) nwadR>m ì`m»`m H$am.

\$) {~Ja bîH$ar g§KQ>Zm ì`m»`m H$am.

àíZ àíZ àíZ àíZ àíZ 2) {Q>nm {bhm. (H$moUVohr Mma) [4 × 5 = 20]

A) nwadR>m ì`dñWmnZ

~) {ZU©` à{H«$`m

H$) g§ajU _§Ìmb`

S>) g§ajU g§KQ>Zm

B) g§ajU

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 3) Imbrbn¡H$s H$moUVohr Mma àíZ gmoS>dm. [4 × 5 = 20]

A) {~Ja bîH$ar g§KQ>ZoMr _wbVËdo gm§Jm.

~) bîH$ar g§KQ>ZoMr _wbVËdo gm§Jm.

H$) bîH$ar g§KQ>ZoMo àH$ma ñnï> H$am.

S>) ^maVr` goZmXbmVrb {ZU©̀  à{H«$`m ñnï> H$am.

B) g§ajU ì`dñWmnZmMo ñdê$n Am{U ì`már ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 4) Imbrbn¡H$s H$moUVohr XmoZ àíZ gmoS>dm. [2 × 10 = 20]

A) g§ajU CËnmXZmVrb g_ñ`m g{dñVa ñnï> H$am.

~) ^maVr` g§ajU nwadR>m ì`dñWmnZmMo _hÎd Am{U Eo{Vhm{gH$ g§X^m©Mo g{dñVa ñnï> H$am.

H$) ^maVr` goZmXbmVrb nwadR>m ì`dñWmnZmMr ì`már g{dñVa ñnï> H$am.


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Q1) A) Fill in the blanks (Attempt any 5) : [5]
i) Park and Ride scheme, cycle ways and explorer buses are example

of _______.
a) Innovative transport provision
b) Amenities
c) Attractions

ii) The process of grouping people within a market according to similar
needs, characteristics or behaviour is known as ________.
a) Tourism marketing b) Segmentation
c) Targeting

iii) IATA stands for
a) International Aviation Travel Association
b) International Air Transportation Association.
c) International Aviation and Tourism Association

iv) The primary purpose of TAAI is ___________
a) To regulate the travel industry in India along organised lines
b) To regulate the travel industry in world
c) To control the travel industry in India along organised lines.

v) Means of land transport are provided by ___________
a) Bullock carts
b) Motor vehicles
c) Bullock carts & motor vehicles

vi) Travel propensity is measure of _________
a) The percentage of a population engaging in tourism.
b) The ratio of day trip to overnight visits.
c) Frequency of travel of a population

SEAT No. :

P.T.O.
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B) Match the following : [5]
i) UNWTO a) Mumbai
ii) TAAI b) New Delhi
iii) IATO c) Geneva
iv) ITDC d) Madrid
v) ICAO e) Monteral

f) New Delhi

Q2) Write Short Notes (Any 2) : [10]
a) Elements of transport
b) Functions of Tour operator
c) Tourist Accomodation
d) Functions of IATO

Q3) a) Describe types of transport. [8]
b) State the importance of Tour operators. [7]

Q4) a) State the types of accommodation. [8]
b) State the functions of UNWTO. [7]


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àíZ 1) A) [aH$må`m OmJm ^am. (H$moUVohr nmM) [5]
i) nmH©$ Am{U amBS> ¶moOZm, gm¶H$b ‘mJ©, Am{U àdmgr ~g hr .............. Mr

CXmhaUo AmhoV.

A) Zm{dÊ¶nyU© dmhVwH$sMr VaVwX

~) gw{dYm

H$) AmH$f©Uo

ii) g‘mZ JaOm, d¡{eï¶o qH$dm dV©Z ¶m§À¶mZwgma bmoH$m§À¶m JQ>mV Q>mH$Ê¶mMr à{H«$¶m
.............. åhUyZ AmoiIbr OmVo.

A) n¶©Q>Z {dnUZ ~) {d^mOZ

H$) bú¶rH$aU

iii) Am¶. E. Q>r. E. (IATA) Mo {dñVm[aV ê$n ............ Amho.

A) Am§Vaamï´>r¶ {d‘mZ àdmg g§KQ>Zm

~) Am§Vaamï´>r¶ hdmB© dmhVwH$ g§KQ>Zm

H$) Am§Vaamï´>r¶ {d‘mZMmbZ Am{U n¶©Q>Z g§KQ>Zm

iv) Q>r. E. E. Am¶ (TAAI) Mm àmW{‘H$ hoVw ............ Amho.

A) g§KQ>rV ‘mJm©Zo ^maVmVrb àdmgr CX¶moJmMo {Z¶‘Z H$aUo

~) OJmVrb àdmgr CX¶moJmMo {Z¶‘Z H$aUo

H$) g§KQ>rV ‘mJm©Zo ^maVmVrb àdmgr CX¶moJm§da {Z¶§ÌU R>odUo

P.T.O.
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v) O{‘Zrdarb dmhVwH$sMo gmYZ ................. Amho.
A) ~¡b JmS>¶m
~) ‘moQ>ma JmS>¶m

H$) ~¡bJmS>¶m Am{U ‘moQ>ma JmS>¶m
vi) àdmgr àd¥Îmr ho EH$ .............. Mo ‘moO‘mn Amho.

A) n¶©Q>Zm‘Ü¶o Jw§Vboë¶m bmoH$g§»¶oMr Q> o̧$dmar

~) amÌrÀ¶m ôQ>rgmR>r {XdgmÀ¶m ghbrMo JwUmoÎma
H$) bmoH$g§»¶oÀ¶m àdmgmMr dma§dmaVm

~) ¶mo½¶ OmoSçm Owidm. [5]
i) UNWTO A) _§w~B©
ii) TAAI ~) Zdr {X„r
iii) IATO H$) {OZodm

iv) ITDC S>) ‘°{S´>S>
v) ICAO B) ‘m°ZQ>oar¶b

’$) Zdr {X„r

àíZ 2) {Q>nm {bhm. (H$moUVohr 2) [10]
A) dmhVwH$sMo KQ>H$
~) Qy>a Am°naoQ>aMr H$m¶©o

H$) n¶©Q>H$ {Zdmg
S>) IATO Mr H$m¶©o

àíZ 3) A) dmhVwH$sÀ¶m àH$mam§Mo dU©Z H$am. [8]
~) Qy>a Am°naoQ>aMo ‘hËd ñnï> H$am. [7]

àíZ 4) A) {ZdmgmMo àH$ma ñnï> H$am. [8]
~) UNWTO Mr H$m¶©o gm§Jm. [7]


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Q1) A) Fill in the Blanks. [5]

i) Customers are going digital with their payments increasing the need
for _____.

a) fraud b) unsecurity

c) security d) prediction

ii) To protect your computer from phishing, malware and other security
threats use genuine _____ software.

a) virus b) malicious

c) anti - virus d) trojan

iii) Using _______ process confidentially, information can be achieved.

a) Cryptography b) Virus

c) Security d) Steganography

iv) ________ helps to simplify the business processes and makes
them faster and efficient.

a) E - commerce b) Files

c) Folders d) Virus

SEAT No. :
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v) If the systems use separate protocols, ______ is used to link two
systems.

a) Repeater b) Bridge

c) Hub d) Gateway device

B) Match the following. [5]

i) E - currency _______ E - signature.

ii) Switch ______ Digital cash.

iii) Network Topology _______ connecting to internet.

iv) Modem ______ Bus.

v) Digital signature ____ connect systems on network.

Q2) Short Notes (Any 2 out of 4) [10]

a) Types of attacks

b) Password security

c) Firewalls and Network security

d) Search Engines

Q3) a) Explain Information security concepts and need of security in detail.[8]

b) Explain components of wireless networks. [7]

Q4) a) Explain TCP/IP, HTTP, secured HTTP and SMTP. [8]

b) Explain various E-marketing techniques in detail. [7]


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Q1) A) Multiple Choice Questions : (Any 5) [5]
i) ABC analysis is used in ___________.

a) CPM
b) PERT
c) Inventory Control

ii) JIT technique does not include _________.
a) Flexibility
b) Quality of working life
c) Line-Stop Authority

iii) Production management is done with __________.
a) Administrative Techniques
b) Marketing Techniques
c) Management Techniques

iv) Production planning includes __________.
a) Planning production budget
b) Operation Layout
c) Order Booking from market

v) __________ is the mediator in the distribution chain cycle.
a) Broker
b) Retailer
c) Seller

vi) Most important element for production process is _________.
a) Raw material
b) Finance
c) Machinery

SEAT No. :
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vii) An important component of production planning and control is
__________.
a) Handling of Goods
b) Raw Material
c) Stock planning

B) Match the following : (Any Five) [5]
Group ‘A’ Group ‘B’

1) First Step in Distribution chain a) 23rd February 1947.
2) E.O.Q. b) Raw Material
3) International standards c) Just - in - Time

Organization
4) J.I.T d) Determining the start and end

time of various production
process

5) Work Schedule e) Economic order Quantity
6) An important factor f) Production

in manufacturing
7) Production Planning g) Management Technique

Q2) Write short notes on the following (Any 2): [10]
a) Production Management.
b) Plant Location.
c) ABC Analysis.
d) Difference between supply chain management and logistics management.

Q3) a) Explain in detail techniques of production control. [8]
b) What is plant layout? Explain the techniques of plant layout. [7]

Q4) a) Define Quality Management. Explain the features of quality management.
[8]

b) Explain the concept of supply chain management. Write the steps (stages)
in supply chain management. [7]


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(2019 Pattern) (366(A))
(_amR>r ê$nm§Va)

doi : 2½ Vmg]                      [EHy$U JwU : 50
gyMZm : 1) gd© àíZ gmoS>{dZo A{Zdm¶© AmhoV.

2) CO{dH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘wi B§J«Or àíZnÌrH$m nhmdr.

PA-1873

àíZ 1) A)A)A)A)A) ~hþn¶m©¶r àíZ gmoS>dm (H$moUVohr ~hþn¶m©¶r àíZ gmoS>dm (H$moUVohr ~hþn¶m©¶r àíZ gmoS>dm (H$moUVohr ~hþn¶m©¶r àíZ gmoS>dm (H$moUVohr ~hþn¶m©¶r àíZ gmoS>dm (H$moUVohr 5))))) [5]
i) ABC {díbofU .............. gmR>r dmnabo OmVo.

A) gr.nr.E‘
~) nr.B©.Ama.Q>r
H$) gmR>m {Z¶§ÌU

ii) JIT V§Ìm‘Ü¶o ............. Mm g‘mdoe hmoV Zmhr
A) bd{MH$Vm
~) H$m‘H$mOmÀ¶m {OdZmMr JwUdÎmm
H$) bmB©Z ñQ>m°n A°Wo[aQ>r

iii) CËnmXZ ì¶dñWmnZ ho ................... ¶m V§Ìm§À¶m AmYmao Ho$bo OmVo.
A) ì¶dñWmnZ {df¶H$ V§Ìo
~) {dnUZ {df¶H$ V§Ìo
H$) àemgZ {df¶H$ V§Ìo.

iv) CËnmXZ {Z¶moOZmV .............. g‘mdoe hmoVmo.
A) CËnmXZ {Z¶moOZ A§XmO nÌH$ V¶ma H$aUo
~) CËnmXZ H$m¶m©Mm AmamIS>m V¶ma H$aUo
H$) ~mOmamVwZ CËnmXZmgmR>r ‘mJUr ¶oUo.

v) {dVaU gmIirVrb ‘Ü¶ñW åhUOo ............... .
A) Xbmb
~) {H$aH$moi ì¶mnmar
H$) {dH«o$Vo

P.T.O.
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vi) CËnmXZ {Z‘uVrgmR>r bmJUmam gdm©V ‘hËdmMm KQ>H$ ............ Amho.
A) H$ƒm‘mb
~) {dÎm
H$) ¶§Ìgm‘wJ«r

vii) CËnmXZ {Z¶moOZ d {Z¶§ÌUmMm ‘hËdmMm KQ>H$ ............
A) ‘mb hmVmiUr
~) H$ÀMm‘mb
H$) gmR>m {Z¶moOZ

~) OmoS>çm bmdm. (H$moUË¶mhr nm§M) [5]
JQ> "A' JQ> "~'

1) {dVaU gmIirVrb nhrbm Q>ßnm A) 23 ’o$~«wdmar 1947
2) B. Amo. ³¶w ~) H$ƒm ‘mb
3) OmJ{VH$ ‘mZH$ g§KQ>Zm H$) OñQ> BZ Q>mB©‘
4) Oo Am¶ Q>r S>) CËnmXZmÀ¶m {d{dY à{H«$¶m gwê$ H$aÊ¶mMr

Am{U g§n{dÊ¶mMr doi {ZpíMV H$aUo
5) H$m¶© doimnÌH$ B) BH$moZm°‘rH$ Am°S>©a H$m°pÝQ>Q>r
6) CËnmXZ {Z‘uVrgmR>r bmJUmam gdm©V ’$) CËnmXZ

‘hËdmMm KQ>H$
7) CËnmXZ {Z¶moOZ ¶) ì¶dñWmnZoMo V§Ì

àíZ 2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]
A) CËnmXZ ì¶dñWmnZ.
~) ¶§ÌHw$b ñWmZ {ZpíMVr.
H$) A.~.H$. dJuH$aU/{díbofU.
S>) {dVaU gmIir ì¶dñWmnZ Am{U bm°{OñQ>rH$ ì¶dñWmnZ ¶mVrb ’$aH$ {bhm.

àíZ 3) A) CËnmXZ {Z¶§ÌUmMr V§Ìo g{dñVa ñnï> H$am? [8]
~) ¶§ÌHw$b aMZm åhUOo H$m¶ Vo gm§JyZ ¶§ÌHw$b aMZoMr V§Ìo ñnï> H$am. [7]

àíZ 4) A) JwUdÎmm ì¶dñWmnZmMr ì¶m»¶m {bhÿZ JwUdÎmm ì¶dñWmnZoMr d¡{eï>o ñnï> H$am? [8]
~) {dVaU gmIirMr g§H$ënZm gm§JyZ, {dVaU gmIirÀ¶m nm¶è¶m/Q>ßno {bhm? [7]


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Q1) A) Fill in the blanks : (any 5) [5]
i) A mail or message sent to a large number of people without their

consent is called _________.
a) Cyber stalking
b) Phishing
c) Spamming

ii) Information Technology Act was passed in the year __________.
a) 1999
b) 2000
c) 2008

iii) To get statutory protection, paying banker must take _________.
a) Payment to a holder
b) Payment in due course
c) Payment to a holder in due course

iv) A collecting banker is given the statutory protection only when he
acts as _________.
a) A banker
b) A holder in due course
c) An agent

v) The relationship between a banker & customer is __________.
a) That of a debtor and creditor
b) That of a creditor and debtor
c) Primarily that of a debtor and a creditor

SEAT No. :
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vi) Secured loan is one in which you get loan against an ________ you
possess.
a) Liability
b) Debt
c) Asset

B) Match the following : [5]
1) Cyber crime a) Recovery camps
2) Individuals and families b) Types of mortgage
3) Simple mortgage c) Types of bank customer
4) Recovery measures d) Phishing
5) Legal measures to control e) IPC - 420

cyber crime in banking

Q2) Short notes : (Any 2 out of 4) [10]
a) Virus Attack.
b) Rights of paying Banker’s.
c) Termination of relationship.
d) Legal measures.

Q3) a) What are the reasons of cyber crimes in banking? [8]
b) What are the duties of collecting Banker. [7]

Q4) a) Explain the types of Bank Customer. [8]
b) What are the types of secured loan. [7]


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[5952]-619
T. Y. B.Com. (Semester - VI)
BANKING & FINANCE - III

366(b) : Banking Law and Practices in India
(2019 Pattern) (CBCS)

(_amR>r ê$nm§Va)
doi : 2½ Vmg]                      [EHy$U JwU : 50
gyMZm : 1) gd© àíZ Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ nyU© JwU Xe©dVmV.

PA-1874

àíZ 1) A)A)A)A)A) [aH$må¶m OmJm ^am (H$m oUË¶mhr nmM)[aH$må¶m OmJm ^am (H$m oUË¶mhr nmM)[aH$må¶m OmJm ^am (H$m oUË¶mhr nmM)[aH$må¶m OmJm ^am (H$m oUË¶mhr nmM)[aH$må¶m OmJm ^am (H$m oUË¶mhr nmM) [5]
i) ‘moR>¶m g§»¶oZo bmoH$m§Zm Ë¶m§À¶m g§‘Vr {edm¶ nmR>dboë¶m ‘ob qH$dm g§Xoe ¶mbm

................. åhUVmV.
A) gm¶~a ñQ>±qH$J
~) {’$qeJ
H$) ñn°q‘J

ii) ‘m{hVr V§ÌkmZ H$m¶Xm ................ g‘§V Pmbm.
A) 1999
~) 2000
H$) 2008

iii) d¡Ym{ZH$ g§ajU {‘idÊ¶mgmR>r, àXm¶r ~±Ho$Zo ................ ho H$aUo Amdí¶H$
Amho.
A) YmaH$mg Xo¶
~) ¶mo½¶doioV no‘|Q>
H$) YmaH$mg ¶mo½¶ doir Xo¶ XoUo

iv) dgwbr ~±Ho$bm d¡Ym{ZH$ g§ajU VoìhmM {Xbo OmVo Ooìhm Vr ............. åhUyZ H$m¶©
H$aVo.
A) ~±H$
~) ¶mo½¶ YmaH$
H$) EO§Q>

P.T.O.
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v) ~±H$ Am{U J«mhH$ ¶m§À¶mVrb ZmVo ........... Amho.
A) F$UH$mo Am{U YZH$mo
~) YZH$mo Am{U F$UH$mo
H$) ‘w»¶V: F$UH$mo Am{U YZH$mo

vi) gwa{jV H$O© ho Ago Amho Á¶m‘Ü¶o Vwåhmbm .............. Vw‘À¶m ‘mbH$sMo H$O©
{‘iVo.
A) Xm{¶Ëd
~) H$O©
H$) ‘mb‘Îmm

~) OmoS>çm Owidm. [5]
1) gm¶~a H«$mB©‘ A) dgwbr ‘oimdo
2) d¡¶º$sH$ AWdm Hw$Qy>§~ ~) JhmUmMo àH$ma
3) gmYo JhmU H$) ~±H$ ImVoXmamMo àH$ma
4) dgwbrÀ¶m Cnm¶¶moOZm S>) {’$qeJ
5) ~±qH$J joÌmV gm¶~a JwÝh¶m§da {Z¶§ÌU B) Am¶nrgr - 420

R>odÊ¶mMm H$m¶Xoera Cnm¶

àíZ 2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]
A) ìhm¶ag A°Q>°H$.
~) àXm¶r ~±Ho$Mo h³H$.
H$) g§~§YmMm eodQ>.
S>) H$m¶Xoera Cnm¶¶moOZm.

àíZ 3) A) ~±H$ì¶dgm¶ joÌmVrb gm¶~a JwÝh¶mMr H$maUo ñnï> H$am. [8]
~) dgwbr ~±Ho$Mo H$V©ì¶ ñnï> H$am. [7]

àíZ 4) A) ~±H$ J«mhH$m§Mo àH$ma ñnï> H$am. [8]
~) gwa{jV H$Om©Mo àH$ma ñnï> H$am. [7]


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Q1) A) Fill in the blank with the most appropriate alternative (Any 5) [5]
i) A/An __________ is a dividend payment made before a company’s

annual general meeting (AGM) and the release of final financial
statements.
(Interim dividend, final dividend, Unclaimed dividend)

ii) As per Companies Act, 2013 Every company to prepare and keep
the books of account and other relevant books and papers and
financial statement in its __________
(Registered office, Branch office, Zonal office)

iii) In case of auditors appointed by the shareholders in general meeting
the remuneration is fixed by__________
(Directors in a Board meeting, Shareholders in the general meeting,
Directors in general meeting)

iv) First auditor is to be appointed by ___________
(Government, Shareholders, Board of Directors)

v) Minimum number of directors in case of a public limited company
___________ directors required.
(2, 3,5)

vi) DIN stands for_________________ in company.
(Director Index Number, Director Identification Number, Director
Identity Number)

Total No. of Questions : 4]
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B) Match the following : [5]
Column A Column B

i) Unclaimed Dividend a) An officer or employee of
the company

ii) Final dividend b) declared at an Annual
General Meeting

iii) Qualification of Auditors c) transferred to Investor
Education and Protection
Fund

iv) Disqualification of Auditors d) Comptroller and Auditor
General of India

v) Appointment of the first auditor e) practising Chartered
of Government company Accountant

Q2) Write a short note (Any 2) [10]
a) Dividend
b) Types of accounts to be maintained by Company
c) Appointment of Auditor
d) Manner of selection of independent directors

Q3) a) What are the provisions regarding declaration and payment of dividend?
[8]

b) What is meant by Internal Audit as per Section 138 of Companies Act,
2013? [7]

Q4) a) Explain the Powers & Duties of Auditor. [8]
b) Explain the disqualifications of Director. [7]


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Total No. of Questions : 4]

[5952]-620
T.Y. B.Com.

366 (C) : BUSINESS LAW & PRACTICE - III
(2019 Pattern) (Semester-VI) (CBCS)

(_amR>r ê$nm§Va)
doi : 2½ Vmg]                      [EHy$U JwU : 50
gyMZm :- 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.

2) COdrH$S>rb A§H$ àíZmMo JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

PA-1875

àíZ 1) A) H§$gmVrb ¶mo½¶ n¶m©¶ {ZdSy>Z [aH$må`m OmJm ^am. (H$moUVohr nmM) [5]
i) .............. H§$nZrÀ¶m dm{f©H$ gd©gmYmaU g ôÀ¶m (EOrE‘) AmYr Am{U A§Vr‘

Am{W©H$ {ddaUnÌo Omar H$aÊ¶mnydu Ho$bobo bm^m§e no‘§oQ> Amho.

(A§V[a‘ bm^m§e, A§{V‘ bm^m§e, Xmdm Z Ho$bobm bm^m§e)

ii) H§$nZr H$m¶Xm, 2013 Zwgma àË¶oH$ H§$nZrZo Ë¶mÀ¶m ..............‘Ü¶o ImË¶mMr
nwñVHo$ Am{U BVa g§~§{YV nwñVHo$ Am{U H$mJXnÌo Am{U Am{W©H$ {ddaU V¶ma
H$aUo Am{U R>odUo.

(Zm|XUrH¥$V H$m¶m©b¶, emIm H$m¶m©b¶, joÌr¶ H$m¶m©b¶)

iii) g‘^mJYmaH$m§Zr gd©gmYmaU g^oV {Z¶wº$ Ho$boë¶m boImnarjH$m§À¶m ~m~VrV
‘mZYZ .............. Ûmao {ZpíMV Ho$bo OmVo.

(g§MmbH$ ~¡R>H$sV, gd©gmYmaU g ôV ^mJYmaH$, gd©gmYmaU g ôV g§MmbH$)

iv) àW‘ boImn[ajH$ ................ Ûmao {Z¶wº$ Ho$bo OmVrb.

(gaH$ma, ^mJYmaH$, g§MmbH$ ‘§S>i)

v) gmd©O{ZH$ H§$nZrÀ¶m ~m~VrV g§MmbH$m§Mr {H$‘mZ g§»¶m ........... g§MmbH$
Amdí¶H$ Amho.
(2, 3, 5)

vi) H§$nZr‘Ü¶o S>rAm¶EZ åhUOo ..............
(S>m¶ao³Q>a B§S>o³g Z§~a, S>m¶ao³Q>a Am¶S>|{Q>{’$Ho$eZ Z§~a, S>m¶ao³Q>a Am¶S>|{Q>Q>r
Z§~a)

P.T.O.
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~) ¶mo½¶ OmoSçm Owidm. [5]
aH$mZm A aH$mZm ~

i) Xmdm Z Ho$bobm bm^m§e A) H§$nZrMm EH$ A{YH$mar qH$dm H$‘©Mmar
ii) A§{V‘ bm^m§e ~) dm{f©H$ gd©gmYmaU g ôV Kmo{fV
iii) boImnarjH$m§Mr nmÌVm H$) Jw §VdUyH$Xma {ejU Am{U g§ajU

{Z{Y‘Ü¶o hñVm§[aV
iv) boImnarjH$m§Mr AnmÌVm S>) ^maVmMo {Z¶§ÌH$ Am{U ‘hmboImnarjH$

v) gaH$mar H§$nZrÀ¶m n{hë¶m B) gZXr boImnmbmMm gamd H$aUmao
A§Ho$jmH$mMr {Z¶wº$s

àíZ 2) WmoS>³¶mV {Q>nm {bhm. (H$moUVohr 2) [10]
A) bm^m§e
~) H§$nZrÛmao XoI^mb H$amd¶mÀ¶m ImË¶m§Mo àH$ma

H$) boImnarjH$mMr {Z¶wº$s
S>) ñdV§Ì g§MmbH$m§À¶m {ZdS>rMr nÕV ñnï> H$am.

àíZ 3) A) bm^m§emMr KmofUm Am{U Xo¶ ¶m~m~V H$m¶ VaVwXr AmhoV? [8]
~) H§$nZr H$m¶Xm, 2013 À¶m H$b‘ 138 Zwgma A§VJ©V Am°{S>Q> åhUOo H$m¶? [7]

àíZ 4) A) A§Ho$jH$Mo A{YH$ma Am{U H$V©ì¶o ñnï> H$am. [8]
~) g§MmbH$mMr AnmÌVm ñnï> H$am. [7]


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Q1) A) Fill in the blanks : (Any 5) [5]
i) Maximisation of __________ is the goal of financial management.

a) Money b) Profit
c) Production

ii) __________ is the duty of finance manager.
a) Production management b) Financial management
c) Human Resource managment

iii) Societies can raise funds by __________
a) Financial planning b) Manpower planning
c) Production planning

iv) Operating expenditure control is the part of ___________
a) Financial control b) Cash control
c) Management control

v) Statutory Audit is _______ to society.
a) Compulsory b) Voluntary
c) Optional

vi) Submission of Audit Report is ________ of co-operative Auditor.
a) Right b) Duty
c) Power

Total No. of Questions : 4]
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B) Match the following : [5]
'A' 'B'

i) Private Finance a) Sources of finance
ii) Contribution of members b) Financial control
iii) Proper utilisation of funds c) Corporate finance
iv) Duty of Auditor d) Appointment in society
v) Co-operative Auditor e) Signing of Audit Report

Q2) Write short note (Any 2) : [10]
a) Estimation of Financial Requirement.
b) Investment policy of financial control.
c) Duties of co-operative Auditor.
d) Importance of Audit Report.

Q3) a) What is financial management? State its nature. [8]
b) State the characteristis of financial planning. [7]

Q4) a) State the policy of operating expenditure in co-operatives. [8]
b) State the various types of Audit in co-operatives. [7]


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T.Y. B.Com.
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(_amR>r ê$nm§Va)
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2) COdrH$S>rb A§H$ àíZmMo JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

PA-1876

àíZ 1) A) [aH$må`m OmJm ^am. (H$moUË¶mhr nmM) [5]
i) .............. Mr dmT> ho {d{Îm¶ ì¶dñWmnZmMo bú¶ Amho.

A) n¡gm ~) Z’$m
H$) CËnmXZ

ii) .............. ho {d{Îm¶ ì¶dñWmnH$mMo H$V©ì¶ Amho.
A) CËnmXZ ì¶dñWmnZ ~) {d{Îm¶ ì¶dñWmnZ
H$) ‘mZdr g§gmYZ ì¶dñWmnH$

iii) gmogm¶Q>¶m .............. X²dmao ZrYrMr C^maUr H$aVmV.
A) {d{Îm¶ {Z¶moOZ ~) ‘Zwî¶~i {Z¶moOZ
H$) CËnmXZ {Z¶moOZ

iv) X¡Z§XrZ IMm©Mo {Z¶§ÌU hm .......... Mm ^mJ Amho.
A) {dÎmr¶ {Z¶§ÌU ~) eof {Z¶§ÌU
H$) ì¶dñWmnZ {Z¶§ÌU

v) d¡Y{ZH$ A§Ho$jU ho gmogm¶Q>rgmR>r........... AgVoo.
A) gº$sMo ~) EopÀN>H$
H$) n¶m©¶r

vi) A§Ho$jU Ahdmb gmXa H$aUo hr ghH$mar A§Ho$jH$mMr............ AgVo.
A) h¸$ ~) O~m~Xmar
H$)  A{YH$ma

P.T.O.
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~) Imbrb OmoSçm Oyidm. [5]
"A' "~'

i) ImOJr {dÎm A) {dÎmr¶ ñÌmoV

ii) g^mgXm§Mo ¶moJXmZ ~) {dÎmr¶ {Z¶§ÌU

iii) ZrYrMm à^mdr dmna H$) H§$nZr {dÎm

iv) A§Ho$jH$mMo H$V©ì¶ S>) gmogm¶Q>rX²dmao {Z¶wº$s

v) ghH$mar A§Ho$jH$ B) A§Ho$jU Ahdmbmda ghr

àíZ 2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]
A) {dÎmr¶ JaOm§Mm A§XmO

~) {dÎmr¶ {Z¶§ÌUmgmR>r Jw§VdUwH$ YmoaU

H$) ghH$mar A§Ho$jH$mMr H$V©ì¶o

S>) A§Ho$jU AhdmbmMo ‘hËd

àíZ 3) A) {dÎmr¶ ì¶dñWmnZ åhUOo H$m¶? Ë¶mMo ñdê$n gm§Jm. [8]
~) {dÎmr¶ {Z¶moOZmMr d¡{eï>¶o gm§Jm. [7]

àíZ 4) A) ghH$mamVrb X¡Z§{XZ IMm©{df¶H$ YmoaU gm§Jm. [8]
~) ghH$mamVrb A§Ho$jUmMo {d{dY àH$ma gm§Jm. [7]


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Q1) A) Fill in the blanks (attempt any 5) : [5]
i) When actual cost exceeds the standard cost the difference is termed

as ________ variance.
a) Adverse
b) Favourable
c) Balance

ii) Pricing under abnormal conditions is made usually at _______ price.
a) increased
b) reduced
c) moderate

iii) ________ standard deals with principles & methods of determining
the material cost.
a) CAS - 3
b) CAS - 7
c) CAS - 6

iv) Efficiency Audit is also called as ______ audit.
a) profitability
b) financial
c) agriculture

SEAT No. :

P.T.O.
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v) Cost Audit is concerned with the verification of the correctness of
_______ accounts.
a) Financial
b) Cost
c) Management

 vi) Material price variance (MPV) = _________.
a) (SQ - AQ) × SP
b) (AP - SP) × AQ
c) (SP - AP) × AQ

B) Match the following : [5]
     Group - A        Group - B

i) Competitive Based Pricing a) Origin in Japan
ii) Elements of Cost b) Appointed by Central Govt.
iii) Target Costing c) Driven by Competitor's Price
iv) Cost Auditor d) Information Technology
v) IT e) Material, Labour and Overheads

Q2) Short Notes (Any 2) : [10]
a) Advantages of Standard Costing
b) CAS - 6
c) Types of Cost Audit
d) Difference between Cost Based Pricing and Value Based Pricing.

Q3) a) From the following information you are required to calculate [8]
i) Material cost variance
ii) Material price variance
iii) Material usage variance
iv) Also verify the results
Material Standard Actual

Quantity Rate per kg Quantity Rate per kg
A A

   C2 800 6 750 7
   D1 400 4 500 5
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b) From the following cost data made available by Anent chemicals,
Aurangabad, calculate [7]
i) Labour Cost Variance
ii) Labour Rate Variance
iii) Labour Efficiency Variance
iv) And Verify the Results.
Category Standard Actual
of Labour Hours Rate per Hrs. Hours Rate per Hour
Untrained 1000 0.75 1100 0.80
Trained 500 1.25 400 1.20

Q4) a) Following cost & price details of a product of Indio Ltd is available for
the year 2021-2022 [8]

You are require to calculate the effect of reduction in market price
by 25% on :
i) P/v Ratio
ii) Break even point in Rupees
Production and sales Units 5,000
Selling price per unit  A  200
Marginal cost per unit (variable cost)    A  100
Total Fixed Cost A  2,00,000

b) State the Advantages of Cost Audit. [7]


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Q1) a) Attempt Fill in the blanks any five of the following : [5]

i) We can minimize cost function by using computation of _____
function.

ii) If C(x) = 36x4 + 72x3 – 27x + 122 is the manufacturer’s total cost
equation then variable cost is _____.

iii) CPM is _____ model.

iv) FCFS is called _____ discipline.

v) Long form of CPM is _____.

vi) Total float is difference of earliest start and _____.

b) State whether each of the statement given below is true or false : [5]

i) In queuing theory no. of arrivals is follows Poisson distribution.

ii) PERT is non-deterministic model.

SEAT No. :

P.T.O.
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iii) In queuing theory, traffic density maybe greater than one.

iv) If C(x) = x4 + 4x2 – 7x + 22 is the manufacturer’s total cost equation
then x4 + 4x2 – 7x is called fixed cost.

v) When total float corresponding activity is equal to zero then such
activity is called as critical activity.

Q2) Attempt any two of the following : [10]

a) Explain the following terms:

i) Network.

ii) Profit function.

iii) Simulation.

iv) Queue.

v) Traffic density.

b) If C(x) = 13x3 + 5x2 – 6x + 13 is the manufacturer’s total cost equation,
find the :
i) average cost

ii) fixed cost

iii) variable cost

iv) marginal cost

c) Explain the following terms:
i) Most likely time in PERT.

ii) Queuing system.

iii) Service Channel.

iv) Market Equilibrium,

v) Optimistic time in PERT.

d) Explain the minima function with an illustration.
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Q3) a) The following table gives the activities in a project and other relevant
information: [8]

Activity 1-2 1-4 1-3 2-4 2-6 4-5 3-5 3-6 5-6

Duration 8 10 8 10 16 17 18 14 9

Find earliest start. earliest finish, latest start, latest finish, total float, free
float and independent float for each activity. Also find critical path.

b) A road transport company has one reservation clerk on duty at a time. He
handles information of bus schedules and make reservations. Customers
arrive at a rate of 8 per hour and the clerk can service 12 customers on an
average per hour. Under assumption of queuing theory, find: [7]

i) Average number of customers waiting for the service.

ii) Average number of customers in a queue

iii) Average waiting time of customer for the service.

iv) Probability that the reservation clerk is idle.

Probability that a customer has to wait before he gets service.

Q4) a) Given below is the information about a project regarding different activities.
All time estimates are in days. [8]

Activity 1-2 1-3 1-4 2-5 3-5 4-6 5-6

     t0 : 5 1 2 3 1 2 1

     tm : 6 1 4 6 1 2 4

     tp : 7 2 12 15 1 8 7

i) Draw the PERT network diagram and find expected time estimate
& variance for each activity.

ii) Given the total estimated project completion time is 17 days with
SD 3.14 days. What is the probability that the project will be
completed within 12 days?
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b) A company manufactures 200 cars cycles per day which changes according
to availability of raw material : [7]
Production 196 197 198 199 200 201 202 203 204
No. of days 5 9 12 14 20 15 11 8 6

Consider the following sequence of random numbers :
82, 89, 78, 24, 52, 61, 18, 45, 04, 23, 50, 77.

Using the sequence, simulate the production for next 12 days. Use
Monte-Carlo simulation method.





Q1) a) Fill in the blanks (Attempt any 5 out of 6) : [5]

i) ________ building is a collaborative process.

a) Team

b) Process

c) Management

ii) ________ to a very large extent is the major cause of stress for
most entrepreneurs.

a) Competition

b) Unity

c) Togetherness

iii) In ________ conflict refers to an internal dispute and involves
only one individual.

a) Intrapersonal

b) Intragroup

c) Intergroup

iv) Entrepreneurial ________ is the process that motivates an
entrepreneur to always stay in the direction of their goal.

a) motivation

b) deterrent

c) discouragement
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v) ________ is the process that initiates, guides and maintains goal
oriented behaviors.

a) Motivation

b) Deterrent

c) Discouragement

vi) ________ marketing is also called online marketing.

a) Digital

b) Offline

c) Physical

b) Match the following : [5]

i) Conflict a) Motivation theory

ii) Intergroup conflict b) 'x' and 'y' theory

iii) Herzberg's theory c) Intrapersonal

iv) Mc Gregor's theory d) Mobile marketing

v) Digital marketing e) Conflict between groups
inside and outside an
organisation

Q2) Short notes (any 2 out of 4) : [10]

a) On the job training

b) Nature of stress

c) Job description

d) Social media marketing

Q3) a) Explain the various steps in training programmes. [8]

b) Explain the causes of conflict in entrepreneurship. [7]

Q4) a) Discuss the motivation in covid-19 crises for entrepreneurship. [8]

b) Discuss the role of digital marketing in entrepreneurship. [7]


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am (ghmn¡H$s H$moUVohr nmM gmoS>dm) … [5]
i) .............. ~m§YUr hr EH$ ghH$m ©̀erb à{H«$`m Amho.

A) g§K
~) à{H«$`m
H$) ì`dñWmnZ

ii) ~è`mM _moR>çm à_mUmV .............. ho ~hþVoH$ CÚmoOH$m§gmR>r VUmdmMo à_wI
H$maU Amho.
A) ñnYm©
~) EoŠ`
H$) EH${ÌVnUm

iii) .............. g§Kf© hm ñVa A§VJ©V {ddmXmMm g§X ©̂ hmoVmo Am{U Ë`mg \$ŠV EH$
ì`ŠVr g_m{dï> AgVo.
A) Am§Vad¡̀ {ŠVH$
~) Am§Vag_yh
H$) Am§VaJQ>

iv) CÚmoOH$ ............... hr Aer à{H«$`m Amho Or CÚmoOH$mbm Zoh_r Ë`mÀ`m Ü ò̀ mÀ`m
{XeoZo amhÊ`mg àd¥Îm H$aVo.
A) àoaUm
~) à{V~§YH$
H$) {Zê$Ëgmh

3 P.T.O.
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v) .............. hr Aer à{H«$`m Amho Or Ü ò̀ m{^_wI dV©UwH$ gwê$ H$aVo, _mJ©Xe©Z
H$aVo Am{U amIVo.

A) àoaUm

~) à{V~§YH$

H$) {Zê$Ëgmh

vi) .................. {dnUZmbm Am°ZbmB©Z {dnUZ Agohr åhUVmV.

A) {S>{OQ>b

~) Am°\$bmB©Z

H$) ^m¡{VH$

~) OmoS>çm bmdm … [5]

i) g§Kf© A) àoaUm {gÕm§V

ii) Am§Vag_yh g§Kf© ~) "j' Am{U "`' {gÕm§V

iii) hP©~J© {gÕm§V H$) Am§Vad¡̀ {ŠVH$

iv) _°H$ J«oJg© {gÕm§V S>) _mo~mB©b {dnUZ

v) {S>{OQ>b {dnUZ B©) g§ñWoÀ`m AmV Am{U ~mhoarb JQ>m§_{Yb
g§Kf©

àíZ àíZ àíZ àíZ àíZ 2) WmoS>Š`mV {Q>nm {bhm (H$moUË`mhr XmoZ) … [10]

A) ZmoH$ar à{ejU da

~) VUmdmMo ñdê$n

H$) H$m_mMo ñdê$n

S>) gm_m{OH$ _mÜ`_o {dnUZ

àíZ àíZ àíZ àíZ àíZ 3) A) à{ejU H$m ©̀H«$_mVrb {d{dY Q>ßno ñnï> H$am. [8]

~) CÚmoOH$VoVrb g§Kfm©Mr H$maUo ñnï> H$am. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) CÚmoOH$VogmR>r H$mo{dS>-19 g§H$Q>mV àoaUm `mda MMm© H$am. [8]

~) CÚmoOH$Vo_Ü ò {S>{OQ>b {dnUZmÀ`m ŵ{_Ho$da MMm© H$am. [7]


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Q1) A) Fill in the blanks (Any 5): [5]

i) ______ objective of marketing control is to observe progress as
per decided planning.

a) Primary b) Secondary

c) Final d) Interium

ii) Marketing audit is done by _____

a) Business Auditor b) Marketing Auditor

c) Account department d) Manager

iii) As per 7 ps the process of which transfer raw material into finished
good is called as______

a) Product b) Price

c) Place d) Direct supply

iv) It is important that the ____ component be attractive for advertising
to be perfect.

a) Design b) Advertising media

c) Printing d) Trademark

v) _______ is an effective media in modern marketing.

a) Advertising on television b) Direct selling

c) Social media marketing d) Radio Advertising

vi) In service marketing Hotel, cinemahall, Bank, Insurance, Travel,
Gym etc are parts of ______ elements.

a) Product oriented components

b) Person oriented components

c) Quality oriented components

d) Industry group components

P.T.O.
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B) Match the following: [5]

i) Legal and medical services a) Social Media

ii) Rythm, music colour b) Techniques of marketing
combination control

iii) Facebook, Whatsup c) Quality oriented components

iv) Swoc & variance analysis d) Principles of Design

v) Sermons & prayers e) Historical social media

Q2) Write short note (any two) [10]

a) Product oriented components in service marketing.

b) Characteristics of television advertisement.

c) Features of social media marketing

d) objectives of marketing audit

Q3) a) Explain the features of service marketing in detail. [8]

b) Explain the principles of design in detail. [7]

Q4) a) Explain the social media marketing in detail. [8]

b) Define marketing audit and explain it’s objectives. [7]


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à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]

i) R>aboë¶m ¶moOZoà‘mUo àJVr hmoV Amho H$s Zmhr ¶mda bj R>odUo, ho {dnUZ {Z¶§ÌUmMo
............... CXX²rð> Amho.
A) àmW{‘H$ ~) Xþæ¶‘
H$) A§{V‘ S>) A§V[a‘

ii) {dnUZ A§Ho$jU ho ................ Ûmao Ho$bo OmVo.
A) ì¶mdgm{¶H$ A§Ho$jH$ ~) {dnUZ A§Ho$jH$
H$) boIm {d^mJ S>) ì¶dñWmnH$

iii) 7ps ¶m g§H$ënZoZwgma H$ƒm ‘mbmMo n³¶m ‘mbmV ê$nm§Va H$ê$Z ~mOmanoR>oV {dH«$sg
CnbãY H$aÊ¶mMr à{H«$¶m ................... ¶m KQ>H$mV AgVo.
A) dñVy ~) qH$‘V
H$) {R>H$mU S>) àË¶j nwadR>m

iv) Om{hamV n[anwU© hmoÊ¶mgmR>r ................... hm KQ>H$ AmH$f©H$ AgUo ‘hÎdmMo AgVo.
A) AmH¥$Vr ~) Om{hamV ‘mÜ¶‘o
H$) ‘wXU S>) ì¶mnma {MÝho

v) AmYw{ZH$ {dnUZmVrb gdm©V à^mdr ‘mÜ¶‘ åhUOo ............... hmo¶.
A) XþaXe©Zmdarb Om{hamVr ~) àË¶j {dH«$s
H$) gm‘m{OH$ ‘mÜ¶‘ {dnUZ S>) aoS>rAmo Om{hamVr

vi) godm {dnUZmV hm°Q>ob, {gZo‘mJ¥h, ~±H$, {d‘m, dmhVyH$, Or‘ B. godm§Mm g‘mdoe
................ ¶m‘Ü¶o Ho$bm OmVmo.
A) dñVy{df¶H$ KQ>H$ ~) ì¶{º${Zð> KQ>H$
H$) JwUdÎmm{df¶H$ KQ>H$ S>) CÚmoJg‘yh KQ>H$
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~) OmoS>çm Owidm : [5]

"A' JQ> "~' JQ>

i) H$m¶Xo{ea d d¡ÚH$s¶ godm A) gm‘m{OH$ ‘mÜ¶‘o

ii) ÜdZr, g§JrV, a§Jg§JVr ~) E¡{Vhm{gH$ gm‘m{OH$ ‘mÜ¶‘o

iii) ’o$g~wH$, ìhm°Q>gAn H$) JwUdÎmm d H$m¡eë¶ {df¶H$ KQ>H$

iv) ñdm°H$ d g§~§Y {díbofU S>) AmH¥$Vr {df¶H$ VÎdo

v) {H$V©Z àdMZ B) {dnUZ {Z¶§ÌU V§Ìo

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) godm {dnUZmVrb dñVw{Zð> KQ>H$

~) XþaXe©Zdarb Om{hamVrMr d¡{eï>ço

H$) {dnUZmÀ¶m gm‘m{OH$ ‘mÜ¶‘m§Mr d¡{eï>ço

S>) {dnUZ A§Ho$jUmMr CX²Xrï>ço

à.à.à.à.à.3) A) godm {dnUZmMr d¡{eï>ço g{dñVa ñnï> H$am. [8]

~) AmH¥$Vr{df¶H$ VËdo g{dñVa ñnï> H$am. [7]

à.à.à.à.à.4) A) {dnUZ {df¶H$ gm‘m{OH$ ‘mÜ¶‘o g{dñVa {bhm. [8]

~) {dnUZ A§Ho$jU ì¶m»¶m gm§JyZ Ë¶mMr CX²Xrï>ço ñnï> H$am. [7]


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Q1) A) Fill in the blanks (Any 5): [5]

i) Agriculture price policy is required to ____

(provide incentives to farmers, to encourage farmers to spend more,

to increase income inequality, trade policy)

ii) _______ is not an objective of national agricultural policy 2000.

(growth with equality, conserve soil and water,  efficient use of
resources, food security)

iii) Agricultural prices in India are ______

(uncertain, certain, constant, stable)

iv) MSP protects the interests of ____

(consumers, farmers, investors, corporates)

v) _______ are the prices which farmers are assured to receive

(Minimum support price, Procurements price, Issue price, Maximum
support price)

vi) The industrial dispute act was passed in ______

(1945, 1968, 1991, 1947)

P.T.O.
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B) Match the following. [5]

i) Protection of interest of farmers a) 2000

ii) Minimum wages act b) CACP

iii) Support to agri produce c) 1948

iv) The trade unious (Amendments) act d) MSP

v) National agricultural policy e) 2001

Q2) Write a short notes (any2 out of 4) [10]

a) Need for policy interventions

b) Maruet intervention schemes

c) Minimum support price

d) Causes of regional industrial imbalances

Q3) a) Explian the cost concepts of CACP. [8]

b) Write a note on Industrial dispute act. [7]

Q4) a) describe the need of balanced regional industrial development. [8]

b) Explain broad features of minimum wages act -1948 [7]





3[5952]-626

Total No. of Questions : 4]

[5952]-626

T.Y. B.Com.
366-(i) : AGRICULTURAL AND INDUSTRIAL ECONOMICS - III

(2019 CBCS Pattern) (Semester - VI) (Paper - III)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50

gyMZm …- 1) gd© àíZ Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nwU© JwU Xe©{dVmV.
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à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUVohr nmM) [5]

i) H¥$fr{df¶H$ qH$‘V YmoaUm§Mr ................ XoÊ¶mgmR>r Amdí¶H$Vm AgVo.

(eoVH$è¶m§Zm àmoËgmhZ, eoVH$è¶m§À¶m IMm©g àmoËgmhZ ,CËnÞ {df‘Vm, ì¶mnma YmoaU)

ii) amï´>r¶ H¥$fr YmoaU-2000 Mo .............. C{Ôï> Zmhr.

(g‘Vogh d¥Õr, ‘¥Xm Am{U Obg§dY©Z, g§gmYZm§Mm H$m¶©j‘ Cn¶moJ, AÞ gyajm)

iii) ^maVm‘Ü¶o H¥$fr qH$‘Vr ................... AmhoV.

(A{ZpíMV, {ZpíMV, pñWa, ñW¡¶©)

iv) {H$‘mZ AmYma ŷV qH$‘Vr .............. bm àoaUm XoVmV.

(J«mhH$, eoVH$ar, Jw§VdUyH$Xma, ì¶mdgm{¶H$)

v) .................... ¶m qH$‘Vr eoVH$è¶m§Zm {‘iÊ¶mMr Anojm AgVo.

({H$‘mZ AmYma ŷV qH$‘Vr, IaoXr qH$‘Vr, {dH«$s qH$‘Vr>, H$‘mb AmYma ŷV qH$‘Vr)

vi) Am¡Úmo{JH$ g§Kf© H$m¶Xm .......... ‘Ü¶o g‘§V H$aÊ¶mV Ambm.

(1945, 1968, 1991, 1947)
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~) OmoS>çm Owidm : [5]

i) eoVH$ar {hVmMo ajU A) 2000

ii) {H$‘mZ doVZ H$m¶Xm ~) gr E gr nr

iii) H¥$fr CËnmXZmg AmYma H$) 1948

iv) ì¶mnmar g§K (gwYmaUm) H$m¶Xm S>) E‘ Eg nr

v) amï´>r¶ H¥$fr YmoaU B) 2001

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) YmoaUmË‘H$ hñVjonmMr JaO

~) ~mOma hñVjon ¶moOZm

H$) {H$‘mZ AmYma ŷV qH$‘Vr

S>) àmXo{eH$ Am¡Úmo{JH$ Ag‘VmobmMr H$maUo

à.à.à.à.à.3) A) grEgrnr À¶m IM© {df¶H$ g§H$ënZm ñnï> H$am. [8]

~) Am¡Úmo{JH$ g§Kf© H$m¶Xm ¶mda {Q>n {bhm. [7]

à.à.à.à.à.4) A) g‘Vmob àmXo{eH$ Am¡Úmo{JH$ {dH$mgmMr Amdí¶H$Vm {deX H$am. [8]

~) {H$‘mZ doVZ H$m¶Xm,1948 Mr R>iH$ d¡{eï²>ço ñnï> H$am. [7]


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[5952]-627
T. Y. B.Com.

366 J : DEFENCE BUDGETING, FINANCE & MANAGEMENT - III
(2019 Pattern) (Semester - VI)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) All questions carry equal marks.

PA-1882 [Total No. of Pages : 2

SEAT No. :

Q1) Attempt any five of the following : [5×2=10]
a) Define defence expenditure.
b) Define defence forces.
c) What is war potential?
d) Define industrial capacity.
e) State the effect of war.
f) What is post war problem?

Q2) Attempt any four of the following : [4×5=20]
a) Defence budget
b) Indigenisation
c) Challenges in defence
d) Industrial capacity
e) Raw material

Q3) Attempt any four of the following : [4×5=20]
a) Explain in new trends in Indian defence expenditure.
b) Explain analysis of defence expenditure since 1998.
c) Explain foreign aid as a contributory element of war potential.
d) Explain industrial capacity as a element of war potential.
e) Explain effect of war.

Q4) Attempt any two of the following : [2×10=20]
a) Explain in details challenges in defence and financial management.
b) Explain in detail Indian defence expenditure since 1947 to 1971.
c) Explain in detail impact of expenditure on Defence forces.


P.T.O.
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Total No. of Questions : 4]

[5952]-627
T. Y. B.Com.

366 J : DEFENCE BUDGETING, FINANCE & MANAGEMENT - III
(2019 Pattern) (Semester - VI)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

PA-1882

à.à.à.à.à.1) Imbrbn¡H$r H$moUVohr nmM àíZ gmoS>dm. [5×2=10]
A) {S>’o$Ýg E³gn§o{S>Ma ì¶m»¶m Úm.
~) Am‘S>© ’$m°g}g ì¶m»¶m Úm.
H$) dm°a nmoQ>opÝe¶b åhUOo H$m¶?
S>) Am¡Úmo{JH$ j‘Vm ì¶m»¶m Úm.
B) ¶wÕmMo n[aUm‘ {bhm.
’$) ¶wÕYmoÎm g‘ñ¶m H$moUË¶m?

à.à.à.à.à.2) {Q>nm {bhm. (H$moUVohr Mma) [4×5=20]
A) g§ajU AW©g§H$ën
~) ^maVr¶H$aU
H$) g§ajUmVrb AmìhmZo
S>) Am¡Úmo{JH$ j‘Vm
B) H$ƒm‘mb

à.à.à.à.à.3) Imbrbn¡H$r H$moUVohr Mma àíZ gmoS>dm. [4×5=20]
A) ^maVr¶ g§ajU IMm©Vrb ZdrZ àdmh ñnï> H$am.
~) 1998 Z§VaÀ¶m g§ajU IMm©Mo {díbofU H$am.
H$) ¶wÕ J{V‘mZVoVrb naH$s¶ ghH$m¶m©Vrb KQ>H$ ñnï> H$am.
S>) "Am¡Úmo{JH$ j‘Vm' ¶wÕ J{V‘mZVoVrb EH$ KQ>H$ ñnï> H$am.
B) ¶wÕmMo n[aUm‘ ñnï> H$am.

à.à.à.à.à.4) Imbrbn¡H$r H$moUVohr XmoZ àíZ gmoS>dm. [2×10=20]
A) g§ajU Am{U ’$m¶ZmpÝe¶b ì¶dñWmnZmVrb AmìhmZo g{dñVa ñnï> H$am.
~) 1947 Vo 1971 ¶m H$mbI§S>mVrb ^maVr¶ g§ajU IMm©Mo g{dñVa {díbofU H$am.
H$) g§ajU IMm©Mm ^maVr¶ goZmXbmdarb n[aUm‘ g{dñVa ñnï> H$am.


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T.Y. B.Com.

366-K : INSURANCE, TRANSPORT AND TOURISM
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Time : 2½ Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right side indicate full marks.

PA-1883 [Total No. of Pages : 4

SEAT No. :

Q1) A) Fill in the blanks (Attempt any 5 out of 6) : [5]
i) Variable cost of package tour changes as per ______

a) Number of package
b) Change in climate condiation
c) Number of package and change in climatic condiation

ii) In terms of a destination what do attractions do ______
a) Generate the visit to a destination
b) Informal local recidents of the benefits of tourism
c) Support visitors of the destination

iii) VISA which is issued to skilled and qualified professionals are ____
a) Tourist VISA
b) Employment VISA
c) Transit VISA

iv) _______ provide emergency assistance to citizens in distress.
a) Embassay
b) Agent
c) Tour operator

v) A _______ is a book of information about a place designed for the
use of visitors or tourists.
a) Guide
b) Agent
c) Guide book

vi) Indian Government is marketing India as a tourist destination through
the _________ advertisement compaign.
a) Crediable India
b) Increadible India
c) Gateway to back water

P.T.O.
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B) Match the following : [5]

Group A Group B

i) Independent tours a) Service of trained tour manager

ii) Escorted tour b) Travel independently

iii) Hosted tour c) Visist to religious destinations

iv) Freedom tour d) Agency utilizes the service of
another agency.

v) Pilgrim tour e) Designed as per the choice of
tourists

Q2) Write short notes (Any 2 out of 4) : [10]

a) Types of tour package

b) Travel Documents

c) Tour Brochure

d) Handling emergencies

Q3) a) Explain in detail factors affecting the tour package formulation. [8]

b) Explain tourist buying behaviour and the role of tour operators. [7]

Q4) a) Discuss about tour booking and administration. [8]

b) State the need of quality and customer satisfaction. [7]


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Total No. of Questions : 6]

[5952]-628
T.Y. B.Com.

366-K : INSURANCE, TRANSPORT AND TOURISM
(2019 Pattern) (Semester - VI) (Paper - III)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50

gyMZm …- 1) gd© àíZ Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nwU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

PA-1883

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]

i) .............. Zwgma n°Ho$O ghbrÀ¶m qH$‘Vr ~XbVmV.

A) gm‘mZmMr g§»¶m

~) hdm‘mZ pñWVrVrb ~Xb

H$) gm‘mZmMr g§»¶m Am{U hdm‘mZ pñWVrVrb ~Xb

ii) J§Vì¶ñWmZmV qH$dm ‘w̧ $m‘mÀ¶m {R>H$mUr, AmH$f©Uo .................. AgVmV.

A) EImÚm J§Vì¶ñWmZmg ôQ> XoUo

~) ñWm{ZH$ a{hdmem§Zm n¶©Q>ZmÀ¶m ’$m¶Úm{df¶r ‘m{hVr XoUo

H$) J§Vì¶ñWmZmda Aä¶mJVm§Mo g‘W©Z H$aUo

iii) Hw$eb Am{U nmÌ ì¶mdgm¶rH$m§Zm XoÊ¶mV Ambobm .................. pìhgm Amho.

A) àdmgr pìhgm

~) amoOJma pìhgm

H$) g§H«$‘U pìhgm

iv) g§H$Q>mV Agboë¶m ZmJarH$m§Zm AmnËH$mbrZ ‘XV ............... XoVo.

A) XþVmdmg

~) EO§Q>

H$) Qw>a Am°naoQ>a
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v) .................... ho AÏ¶mJV qH$dm n¶©Q>H$m§À¶m dmnamgmR>r {S>PmBZ Ho$boë¶m ñWmZm~X²XbMr
‘m{hVr nwñVH$ Amho.
A) ‘mJ©Xe©Z
~) EO§Q>
H$) ‘mJ©X{e©H$m

vi) ^maV gaH$ma ................... Om{hamV ‘mo{h‘oÛmao n¶©Q>ZñWi åhUyZ ^maVmMo ‘mH}$qQ>J
H$arV Amho.
A) {dídmgmh© ^maV
~) A{dídgZr¶ ̂ maV
H$) ~°H$dm°Q>a JoQ>do

~) ¶mo½¶ OmoS>çm Owidm : [5]
"A' JQ> "~' JQ>

i) ñdV§Ì Xm¡ao A) à{e{jV Qy>a ‘°ZoOaMr godm
ii) EñH$m°Q>}S> n¶©Q>Z ~) ñdV§Ì àdmg
iii) hmoñQ> Ho$bob n¶©Q>Z H$) Ym{‘©H$ ñWim§Zm ôQ> XoUo
iv) ’«$sS>‘ n¶©Q>Z S>) EOÝgr Xþgè¶m EOÝgrÀ¶m godm§Mm dmna

H$aUo
v) ¶mÌoH$ê$ ghb B) n¶©Q>H$m§À¶m AmdS>rZygma {S>PmB©Z Ho$bobo

à.à.à.à.à.2) {Q>nm {bhm. (H$moUVohr XmoZ) [10]

A) n¶©Q>Z n°Ho$OMo àH$ma
~) n¶©Q>Z ‘mhrVrnÌH$
H$) àdmg XñVEodO
S>) AmnËH$mbrZ n[apñWVr hmVmiUo

à.à.à.à.à.3) A) Qw>a n°Ho$O gw{ÌH$aUmda n[aUm‘ H$aUmè¶m KQ>H$m§Mo Vn{ebdma dU©Z H$am. [8]

~) n¶©Q>H$ IaoXrMo dV©Z Am{U Qw>a Am°naoQ>aMr ŷ{‘H$m ñnï> H$am. [7]

à.à.à.à.à.4) A) Qy>a ~wH$s¨J Am{U àemgZm{df¶r MMm© H$am. [8]

~) JwUdÎmm Am{U J«mhH$m§À¶m g‘mYmZmMr JaO gm§Jm. [7]


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T.Y. B.Com.
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Instructions to the candidates:

1) All Questions are compulsory.

2) Neat labeled diagrams must be drawn wherever necessary.

3) Figures to the right indicate full marks.

PA-1884 [Total No. of Pages : 2

SEAT No. :

Q1) A) Fill in the blanks (Any 5 out of 6): [5]

a) _______ shows the relationships of entity sets stored in a database.

i) Data dictionary ii) Entity relationship diagrams

iii) Flow iv) Scheme

b) ______ testing involves testing a system with no prior knowledge
of its internal workings.

i) Within the Box ii) Outbox

iii) Black box iv) Inbox

c) ______ contains metadata ie. data about the database.

i) case study ii) decision

iii) output design iv) data dictionary

d) _______ represents hierarchical structure of modules.

i) decision tress ii) flow

iii) structure charts iv) cohension

e) Data _______ refers to the process of ensuring the accuracy and
quality of data.

i) validation ii) checks

iii) tree iv) flow

f) _______ is an assessment of the practicality of a proposed plan or
project.

i) Risk assessment ii) Feasibility Study

iii) Module iv) Outbox

P.T.O.
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B) Match the following: [5]

a) Decision table i) selenium

b) Data flow diagram ii) entity Relationship Diagram

c) Screen design iii) tabular representation of
decision making process

d) ERD iv) graphical representation of
symbols

e) Software testing tool v) graphic design of user interfaces

Q2) Short Notes (Any 2 out of 4): [10]

a) Testing tools.

b) Risk Projection.

c) Fact finding techniques.

d) Screen Layout designing.

Q3) a) Explain in detail structured system design. [8]

b) What is software testing? Explain its types. [7]

Q4) a) What are Entity Relationship Diagrams? Explain Entity Relationship
diagrams by giving examples. [8]

b) What is feasibility study? Why it is important. [7]


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T.Y. B.Com. (Vocational)
COMPUTER APPLICATIONS - I

(CBCS 2019 Pattern) (Semester - VI) (365Voc(A))

Time : 2½ Hours] [Max. Marks : 50

Instructions to the candidates:
1) All questions are compulsory.

2) Figures to the right indicate full marks.

PA-1885 [Total No. of Pages : 2

SEAT No. :

Q1) A) Fill in the Blanks [5]

i) Artificial Intelligence is about ____________

a) Playing a game on Computer

b) Programming with your own intelligence

c) Making a machine intelligence

d) Putting your intelligence in machine

ii) ______ Language is preferred by IoT.

a) Python b) HTML

c) PHP d) C++

iii) PaaS and SaaS are _________

a) Cloud Computing Services

b) Cloud Computing Applications

c) Cloud Computing Trends

d) Cloud Computing Models

iv) ___________replaces the user’s world with an entirely virtual world.

a) Augmented reality b) Virtual reality

c) Graphical reality d) Digital reality

P.T.O.
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v) An IoT ecosystem consists of ______ that use embedded systems.

a) Web-enabled smart devices

b) Plastic Devices

c) Analog Devices

c) Mechanical devices

B) Match the Pairs [5]

i) Public Cloud a) Intranet

ii) Google Glass b) Internet of Things

iii) Amazon Web Service c) Augmented reality

iv) Type of Cloud d) Less Secure

v) IoT e) IaaS

Q2) Write short note on the following (Any two) [10]

a) Artificial Intelligence

b) Working of VR

c) SaaS

Q3) Answer the following (Any four) [20]

a) What are the applications of IoT?

b) What is Virtual Reality? Explain.

c) Give the advantages of AI.

d) What are the applications of Augmented Reality?

e) How AT is benefited to business? Explain.

Q4) Answer the following Question (Any one) [10]

a) What is IoT and explain its features and working?

b) What is Cloud Computing? Explain its characteristics and advantages.


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Total No. of Questions : 4]

[5952]-630

T.Y. B.Com. (Vocational)
COMPUTER APPLICATIONS - I

(CBCS 2019 Pattern) (Semester - VI) (365Voc(A))

Time : 2½ Hours] [Max. Marks : 50

Instructions to the candidates:
1) All questions are compulsory.

2) Figures to the right indicate full marks.

PA-1885 [Total No. of Pages : 2

SEAT No. :

Q1) A) Fill in the Blanks [5]

i) Artificial Intelligence is about ____________

a) Playing a game on Computer

b) Programming with your own intelligence

c) Making a machine intelligence

d) Putting your intelligence in machine

ii) ______ Language is preferred by IoT.

a) Python b) HTML

c) PHP d) C++

iii) PaaS and SaaS are _________

a) Cloud Computing Services

b) Cloud Computing Applications

c) Cloud Computing Trends

d) Cloud Computing Models

iv) ___________replaces the user’s world with an entirely virtual world.

a) Augmented reality b) Virtual reality

c) Graphical reality d) Digital reality

P.T.O.
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v) An IoT ecosystem consists of ______ that use embedded systems.

a) Web-enabled smart devices

b) Plastic Devices

c) Analog Devices

c) Mechanical devices

B) Match the Pairs [5]

i) Public Cloud a) Intranet

ii) Google Glass b) Internet of Things

iii) Amazon Web Service c) Augmented reality

iv) Type of Cloud d) Less Secure

v) IoT e) IaaS

Q2) Write short note on the following (Any two) [10]

a) Artificial Intelligence

b) Working of VR

c) SaaS

Q3) Answer the following (Any four) [20]

a) What are the applications of IoT?

b) What is Virtual Reality? Explain.

c) Give the advantages of AI.

d) What are the applications of Augmented Reality?

e) How AT is benefited to business? Explain.

Q4) Answer the following Question (Any one) [10]

a) What is IoT and explain its features and working?

b) What is Cloud Computing? Explain its characteristics and advantages.





Q1) A) Fill in the blanks : [5]

i) _________ is most important quality of effective sales manager

a) product knowledge b) Self-confidence

c) MBA Degree d) Knowledge of English

ii) Effective sales planning is the prime responsibility of _______.

a) CEO b) Cost Manager

c) Sales Manager d) Marketing manager

iii) In SWOT analysis ‘S’ stands for

a) Sensitive b) Strong

c) Smiling face d) Strength

iv) It is practice of following some social rules and norms for
upliftment of society.

a) Branding

b) Packaging

c) Corporate Social Responsibility

d) CPM

v) _________ is the geographical distribution of available market.

a) Sales Budget b) Sales Quota

c) Sales territory d) Sales manual

Total No. of Questions : 4]

[Total No. of Pages : 2

[5952]-631
T.Y. B.Com. (Vocational)

ADVERTISING, SALES PROMOTION & SALES
MANAGEMENT - I

(2019 Pattern) (CBCS) (Semester - VI) (Paper - V) (365(B))

Time : 2½ Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to right indicate full marks.
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SEAT No. :
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B) Match the pairs : [5]

i) CRM a) Analysis of sales

ii) Good Communication b) Set of strategies

iii) Sales Planning c) Expected sales

iv) Sales Quota d) Quality of sales manager

v) Sales audit e) Improves seller - customer
relationship

Q2) Write short note on (any 2) : [10]

a) Sales analysis

b) Online sales promotion

c) Corporate social Responsibility

d) Tools of CRM

Q3) Answer the following (any 4) : [20]

a) Emerging trends in CRM

b) Order Processing

c) Sales Quota and Sales territory

d) Sales Audit

e) Need of Physical distribution of Goods

f) Need of Warehousing

Q4) Answer the following (any 1) : [10]

a) What are the functions and responsibilities of sales manager in modern
sales management?

b) Write detail note on Event Management vs sales management.





Total No. of Questions : 4]

[5952]-632

T.Y. B.Com. (Vocational)
TAX PROCEDURE & PRACTICES
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PA-2705 [Total No. of Pages : 2

SEAT No. :

Q1) A) State whether the following statement is True or False: [5]

a) Laptop Computer brought as baggage by person above 18 years
of age is fully exempt from customs duty.

b) Time limit to file memorandum of cross-objections before Tribunal
is 30 days.

c) An appeal to High court shall be made within 180 days.

d) A person aggrieved by the order of Tribunal in the matters of
classification or valuation of goods can make an appeal before High
court.

e) An Export Oriented Unit (EOU) can be set up anywhere in India.

B) Choose the correct answer (Any Five): [5]

a) Time limit to file memorandum of cross-objections before Tribunal
is _______ .

i) 20 days ii) 45 days

iii) 55 days iv) 60 days

b) ____ is the rebate of excise duty and customs duty paid on inputs
used in exported final products under section 75 of Customs Act.

i) Discount ii) Ad-valorum duty

iii) Market Price iv) Duty drawback

c) ____ is the time limit for re-exportation of goods as such u/s74.

i) 4 years ii) 3 years

iii) 3 years and 6 months iv) 2 year
P.T.O.
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d) ____ is the rate of duty drawback if the goods are exported without
use.

i) 50 percent ii) 49 percent

iii) 98 percent iv) 99 percent

e) Period of limitation for claiming customs duty refund is ____.

i) One year from the date of payment of duty and interest

ii) 8 months from the date of import/export

iii) 6 months from the date of payment of duty and interest

iv) 2 years from the date of import/export

f) The effective rate of duty shall be ____ on baggage.

i) 30.5 percent ii) 31.5 percent

iii) 35.0 percent iv) 38.5 percent

Q2) Write Short Notes (Any Two): [10]
a) Warehousing Bond (Section 59).

b) Bailable offences.

c) Scope of Foreign Trade Policy.

d) Importer-Exporter Code (IEC) under (FTP).

Q3) Answer the following questions (Any Four): [20]
a) What is the permissible time limit for paying drawback?

b) What are the features of Foreign Trade policy?

c) What are the provisions regarding confiscation of improperly  imported
goods?

d) What are the provisions of appointment of public warehouses?

e) What are the different provisions regarding removal of the goods from
warehouse?

f) What are the various provisions in respect of interest on delayed refunds?

Q4) Answer any One of the following question : [10]
a) Discuss the provisions in respect of appointment of customs ports,

airports etc.

b) Briefly state the law relating to demand for payment of duty under section
28 of the Customs Act.


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